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Pl 146 75 113 92 101 16 543

99& %1% |=654 B2k 6, 934 3, 490 4,897 4, 250 4,614 589 24, 174
= 65%& F A 46. 83% 44. 58% 48. 21% 45. 18% 42. 66% 46. 49% 45. 64%
et B 147 74 113 92 102 16 544
99 2% |64 B Xk 7,009 3,572 5,012 4,285 4,664 606 25, 148
=65%& F A A7. 06% 45. 14% 48. 69% 45. 13% 42. 78% 46. 87% 45. 90%

i 148 76 114 95 103 15 551
99#& $3%F  |=65& B Xk 7, 040 3,628 5, 022 4,297 4,730 617 25, 334
=65/& F A 46. 83% 45. 33% 48. 59% 44. 90% 43. 09% 47. 24% 45. 87%
Pt dic 148 7 114 95 103 15 552

99 $4% | =65% B %k 7085 3703 5122 4381 4795 635 25721
=65/ 7 A 46.91% 45. 47% 48. 72% 45. 28% 43.31% 48. 14% 46. 07%

i 152 7 114 96 107 16 562

100 %1% [=65% & %k 7,268 3,738 5, 141 4, 454 4,915 638 26, 154
=65/ T A 47.18Y% 45. 32% 48.51% 45. 67% 43. 23% 47. 43% 46. 11%
i 152 78 113 97 108 16 564
100 %2% [=654& & % 7343 3779 5186 4443 4938 634 26323
=65/ T A 47. 22% 45. 08% 48. 69% 45. 33% 43. 26% 47.31% 46. 07%

o dic 153 7 114 98 107 17 566

100 %3% [=65%& %k 7,374 3,795 5, 201 4,436 4,917 646 26, 369
=65/ T A A7. 25% 45. 45% 48. 65% 45. 07% 43. 06% 46. 88% 46. 03%

5 152 7 113 98 107 15 562

100 54%  |[=65% B %k 7,429 3,830 5, 275 4,437 4,960 598 26, 529
=658k T A 46.91% 45. 73% 48. 92% 44. 89% 43. 28% 46. 83% 46. 05%

P Hic 150 7 116 98 108 17 566

101 %1% [=65% % #c 7,543 3,893 5, 402 4,534 5, 069 671 27, 112
=65%& F A AT, 32% 45. 82% 49. 13% 45. 18% 43. 63% A7, 42% 46. 34%
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P i 8 2 3 2 3 1 19

99 5 1% W Ao B & i 628 139 275 161 350 55 1,608
WP A 33. 44% 28. 48% 32. 66% 36. 43% 25. 87% 35. 48% 31.17%
B i 8 2 3 2 3 1 19
09 5 2% W B % 624 144 282 159 335 58 1, 602
R A 33. 39% 28. 86% 32. 94% 35. 18% 25. 23% 36. 25% 31.02%
B i 8 2 3 2 3 1 19
99 5 3% TN SR EE S 629 147 285 157 334 57 1,609
BB A v 33.11% 29. 34% 33.53% 34.51% 25. 38% 35. 85% 31. 06Y%
B i 8 2 3 2 3 1 19
09 §4% W B % 613 146 284 160 331 65 1599
W A 32. 30% 29, 20% 33. 37% 34.19% 25. 36% 38. 69% 30. 81%

P i 9 2 3 2 3 1 20

100 $1% |4 s b2k 792 147 287 153 338 71 1,788
WO T A 34. 23% 29. 46Y% 33. 33% 34. 15% 95. 55% 39. 23% 31.78%
R 9 2 3 2 3 1 20
100 %2% A B ik 791 145 285 155 352 71 1,799
W FOR T A 34.21% 29. 06Y% 33. 45% 34. 75% 26. 43% 38. 80% 31.99%

e 10 2 3 2 3 1 21

100 %3% WA B %k 785 141 295 162 350 68 1, 801
R A 33. 98% 28. 95% 34. 03% 35. 45% 26. 48% 37. 36% 32. 02%

e 10 2 3 2 3 1 21

100# $4% | ApBEE& 787 138 301 178 353 69 1, 826
RO A 33. 83% 28. 40% 33, 59% 37.87% 26, 72% 37.50% 32. 13%

P i 10 2 3 2 3 1 21

101& %1% [ & 827 139 309 183 347 72 1,877
BT A v 35. 42% 28. 54% 34. 30% 38. 28% 26. 49% 39, 34% 32. 96%
2ABPTRF L EFRIRIE T ih-o R84 BRRET R

s J vl PR ¥R ‘
A F ul o I N 3 T | 55 | LE )2t

P i 39 27 39 21 33 5 164

99 ¥ 1% W Ao B % i 1,318 1,089 1,014 672 1,000 178 5, 271
BB E A v 38. 41% 36. 45Y% 31. 64% 39. 25% 39. 46% 43. 00% 36. 90%

P i 39 27 39 21 33 5 164

99 % 2% W Ao B % i 1,336 1,091 1,024 675 1,009 182 5,317
BB A 38. 67% 36. 37% 31. 63% 38. 64% 39. 77% 44. 94% 36. 97%

B i 39 27 40 23 33 5 167

99 % 3% W B % B 1,339 1,089 1,025 680 1,012 198 5, 343
R T A 38. 82% 36. 28% 31.51% 38. 72% 39, 59% 45. 62% 36. 98%
Pt i 39 28 40 23 33 5 168
99 §4% W Ao B % i 1315 1104 1017 706 1031 207 5380
BB T A 38. 89% 36.51% 31. 68% 39, 71% 40. 35% 46. 83% 37. 39%

P i 41 28 39 23 34 5 170

100 %1% Ao B % i 1,416 1,135 1,029 721 1,005 291 5, 527
W RO T A 39, 74% 37. 30% 31.72% 39. 46% 40. 14% AT, 42% 37.73%

Pt i 41 28 38 24 34 5 170

100 %2% | Aqpk ik 1,430 1,156 1,046 722 1,008 217 5,579
W RO T A 39. 70% 37. 62% 31. 66% 39. 24% 40. 53% AT, 17% 37. 78%

Bt i 49 29 38 24 34 5 172

100 %3%  |#AqpkiEk 1,436 1,188 1,037 726 1,005 291 5,613
BRI E A v 39. 60% 38. 14% 31. 39% 39. 35% 40. 67% A7, 02% 37. 85%

P B 42 29 37 24 34 4 170

100 54%  |[BRmBEE 1,432 1,161 1,042 756 1,036 178 5, 605
BB R A 39. 21% 37.78% 31.55% 40. 54% 41. 88Y% 45. 29% 37.97%

P i 41 29 39 24 34 4 171

101& %1% |[BgpRBRE 1,415 1,199 1,114 759 1,056 146 5, 689
WP A 39. 35% 38. 60% 32. 74% 40. 39% 41. 94% 43. 20% 38. 34%
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SR TRE S G )

BRI
o A A F ¥ R 2 F B B % T A2t
19 11 15 12 10 5 72
1, 255 793 767 860 767 173 4,615
40. 52% 40. 15% 37. 95% 40, 47% 37. 88% 50. 14% 39. 83%
19 11 15 12 10 5 72
1,254 800 787 873 784 178 4,676
40. 58% 40. 04% 38. 11% 40. 60% 38. 11% 48. 37% 39. 87%
19 11 15 12 10 5 72
1,271 794 767 872 775 181 4, 660
40. 86% 39. 84% 37. 43% 40. 35% 37. 75% 50. 14% 39. 73%
19 11 15 12 10 5 72
1277 804 831 885 789 181 4767
40, 54% 40. 32% 38. 60% 40. 45% 38. 15% 50. 00% 40. 01%
18 11 15 12 10 5 71
1,145 815 853 874 824 179 4,690
41. 46% 39. 66% 39. 42% 40. 07% 39. 28% 50. 42% 40. 38%
18 11 15 12 10 5 71
1, 150 821 839 891 817 174 4,692
41.16% 39. 45% 38. 72% 40. 52% 39. 24% 49. 43% 40. 19%
18 11 15 12 10 5 71
1, 155 831 831 894 804 183 4,698
A1, 43% 39. 53% 38. 67% 40, 42% 38. 84% 50. 00% 40, 20%
17 11 15 12 10 4 69
1,175 850 853 894 801 183 4,756
41, 62% 40. 32% 39, 09% 40, 40% 39, 00% 53, 04% 40, 56%
17 11 15 12 10 4 69
1,219 854 905 916 812 190 4,896
42, 24% 40, 53% 40, 77% 40, 89% 38. 81% 53. 37% 41, 14%
pAEGCBETREFEZER D)
2o
o | »% | ¢ % 3 T | 35 | L E |
80 35 56 5T 55 5 288
2,239 947 1, 350 1,827 1,697 132 8,192
34. 98% 39. 82% 33. 02% 35. 63% 34. 60% 37. 39% 35. 23%
81 34 56 57 56 5 289
2,303 955 1, 376 1, 860 1,729 134 8, 357
35. 54% 39.51% 33. 28% 36. 14% 34. 72% 37. 22% 35. 53%
82 36 56 58 57 4 293
2, 364 1,001 1, 402 1, 881 1,775 128 8,551
35. 97% 39. 91% 33.51% 36. 18% 35. 13% 36. 36% 35, 83%
82 36 56 58 57 4 293
2450 1050 1478 1914 1839 129 8860
36. 70% 40. 00% 34. 38% 36. 52% 35. 76% 37.18% 36. 42%
84 36 5T 59 60 5 301
2,516 1,056 1,506 1,948 1,953 130 9,109
37.19% 39. 83% 34. 79% 36. 78% 35. 87% 37. 90% 36. 69%
84 37 5T 59 61 5 303
2,563 1,081 1, 520 1, 966 1,957 130 9,217
37. 45% 39. 60% 35. 12% 36. 98% 35. 49% 37. 68% 36. 75%
83 35 58 60 60 6 302
2,597 1,047 1, 552 1,973 1,975 137 9, 281
37. 4% 39. 58% 35.51% 37. 03% 35. 54% 38. 06% 36. 92%
83 35 58 60 60 6 302
2, 740 1,083 1,579 2,006 2,019 129 9, 556
38. 95% 39. 99% 35. 87% 37.59% 35. 99% 36. 34% 37. 55%
82 35 59 60 61 8 305
2,832 1,154 1,637 2,081 2,132 238 10, 074
39. 76% 41, 26% 36. 61% 38. 26% 37. 42% 44, 24% 38. 65%




24 51T RIS F RIS o et ST BB T (AT RE S g R E)
i % é] ) v F
A Fe b o A A % s 2 F B B i % ] 2+

P i 146 75 113 92 101 16 543

99 5 1% ¥R B % i 5, 440 2,968 3, 406 3,520 3,814 538 19, 686
BB R A 36. 74% 37.91% 33.53% 37. 42% 35. 26% 42. 46% 36. 27%
EXES S 147 74 113 92 102 16 544
99# %2% YE B B % B 5. 517 2.990 3. 469 3. 567 3. 857 552 19. 952
ME B BT A 37.04% 37 78% 33 70% 37 57% 35. 38% 42 69% 36.41%

P i 148 76 114 95 103 15 551
99 % 3% P AR B % ik 5,603 3, 031 3,479 3, 590 3, 896 564 20, 163
WEFRBR A 37. 2% 37. 87% 33. 66% 37.51% 35. 49% 43.19% 36.51%
EXES 3 148 77 114 95 103 15 552
99# % 4% B Pk B % 5655 3104 3610 3665 3990 582 20606
BB E A 37. 44% 38. 12% 34, 34% 37. 88% 36. 04% 44, 12% 1%

P i 152 77 114 96 107 16 562

1002 %1% P AR B % Kk 5, 869 3, 153 3, 675 3, 696 4,120 601 21,114
PR R A 38. 10% 38. 23% 34. 68% 37. 90% 36. 24% 44. 68% 37. 23%
P i 152 78 113 97 108 16 564
100# % 2% PR B % Kk 5, 934 3,203 3, 690 3, 734 4,134 592 21, 287
YEARE R A 38. 16% 38. 21% 34. 64% 38. 09% 36. 22% 44. 18% 37. 25%

P i 153 77 114 98 107 17 566

100# % 3% W o B 5 i 5,973 3,207 3,715 3, 755 4,134 609 21, 393
WRBE A 38. 28% 38. 41% 34. 75% 38. 15% 36. 20% 44.19% 37. 35%

EXES S 152 77 113 98 107 15 562

100# % 4% Mo B & i 6, 134 3,232 3, 775 3, 834 4,209 559 21, 743
MO R A 38. 73% 38. 59% 35. 01% 38. 79% 36. 73% 43. 77% 37. 74%

XS 3 150 77 116 98 108 17 566

101 %1% W s B % 6, 293 3, 346 3, 965 3,939 4, 347 646 22, 536
YRR R A 39. 48% 39. 38% 36. 06% 39. 25% 37. 42% 45. 65% 38. 52%
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25 EFRAFEEFRIRDSFiph-w i
P R 5w FE
S ?P ‘?1!] L: 7”‘ 7”‘ ?F v Cr?v e z\'—}v r_g Ef" ‘3\ ?v J '{':‘J'
. i 3 2 3 > 3 1 19
99 % 1
o pan 38 5 16 11 20 1 91
. ol 3 7 3 9 3 1 19
09& %2
- pan 39 3 21 7 20 6 89
. e 3 > 3 9 3 1 19
=+
WeERSE L pam 37 5 18 4 29 3 89
. P 3 2 3 2 3 1 19
WEFAE | pam 36 7 21 16 12 4 96
ji g | 3 > 3 5 3 1 19
; o A 143 20 76 38 74 14 365
. o i 9 > 3 5 3 1 20
=
100# %15 1 a e 59 7 10 12 20 3 104
. . 9 7 3 9 3 1 20
s
100#%2% | . s 45 13 12 13 20 4 107
. P 10 7 3 5 3 1 21
100£ 53
ol pam 37 9 1 9 20 7 86
. ol 10 2 3 2 3 1 o1
1004 54
ol pan m 6 19 6 91 4 100
1002 -] 2+ ERAS S 10 2 3 2 3 1 21
: e BA 178 28 52 40 81 18 397
ol siE | 10 9 3 9 3 1 21
e A 59 8 10 10 24 9 113
25 SR E LB RIS T E-w RiE1T s
E$ %ﬁ,f‘é»‘;vlj 4,—4“?‘:%?]3;"5
s Fe W e At W% ¢ 2 W B A L ¥ s
. ol 39 27 39 21 33 3 164
s
WEFIE o pam 51 63 62 49 62 13 300
. i 39 27 39 21 33 5 164
09# %2
o r. pan 65 53 63 38 56 6 281
. ol 39 27 40 23 33 5 167
WeEF3F L pan 63 58 71 49 71 19 399
. o i 39 28 40 23 33 5 168
=
WEFAE | pam 65 55 57 44 57 10 288
O [ 39 28 40 23 33 5 168
: e R 949 229 953 180 246 41 1198
. i 41 28 39 23 31 5 170
100# %1% s 7 70 57 55 el 14 339
— ol A1 28 33 21 34 5 170
100# %2
#5221 pan 79 54 63 35 65 6 295
00k 5as | 42 29 38 21 34 5 172
o A 63 54 61 40 45 8 276
0k 54z |FTE 49 29 37 24 34 4 170
PO 75 71 63 30 53 8 305
00 o R 42 29 39 21 34 5 173
' ERN LS S 286 249 245 160 234 36 1,210
Es1E  |EE Al 29 39 21 31 1 171
o A 79 73 7 56 67 8 355
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M BERB(CETHFEERE)

R
i  F P 3 ¥ B A i |
19 11 15 12 10 5 T2
103 42 56 37 50 6 294
19 11 15 12 10 5 2
86 46 48 47 46 15 288
19 11 15 12 10 5 2
4 44 46 55 34 14 267
19 11 15 12 10 5 12
107 48 48 46 45 12 306
19 11 15 12 10 5} 2
370 180 198 185 175 A7 1155
18 11 15 12 10 5 71
84 12 67 48 42 13 326
18 11 15 12 10 5 71
67 46 52 48 31 T 251
18 11 15 12 10 5 !
66 31 53 44 65 6 265
17 11 15 12 10 4 69
70 29 61 04 40 6 286
18 11 15 12 10 5} 71
287 204 233 194 178 32 1,128
17 11 15 12 10 4 69
98 50 48 39 99 6 296
- B AR ATHEE GA )
EOALs
e A A P E Y B A i T | 3+
80 35 56 57 55 5 288
87 35 83 90 7 2 374
81 34 56 57 56 5 289
71 30 61 67 83 o) 317
82 36 56 58 o7 4 293
91 24 66 83 84 I 355
82 36 56 58 o7 4 293
83 43 69 86 4 5 360
82 36 56 58 o7 4 293
331 133 279 326 318 19 1406
84 36 57 59 60 5} 301
116 49 13 81 99 ) 423
84 37 57 59 61 5 303
104 49 69 80 2 6 380
83 35 58 60 60 6 302
94 41 65 65 85 9 359
83 35 58 60 60 6 302
85 32 4 83 82 5 361
85 38 58 60 61 6 308
399 171 281 309 338 25 1,523
82 35 59 60 61 8 305
105 47 85 71 106 12 426




255 Ripe ¥ %’5}%‘ PRAR S B ik iR 4T = B RER(S %’“%%ﬁ Fehin)
, b :
i X i ' %
— o i 146 75 113 92 T01 16
WERLE o i 979 145 217 187 209 99
. P 147 74 113 92 102 16
s
WEFLE . pam 254 132 193 159 205 39
. . 148 76 114 95 103 15
s
WEFIE . pam 270 131 201 191 211 36
. P 148 7 114 95 103 15
s
WeERAE | an 291 153 195 192 188 31
vor g | 148 7 114 95 103 5
J Mo kg 1093 562 806 799 813 191
. . 152 7 114 96 107 16
100 5 1
o pan 324 198 207 196 939 35
. i 152 78 113 97 108 16
1004 %2
S PR 288 162 196 176 188 23
. . 153 7 114 98 107 17
100 % 3
ol pam 265 198 190 158 915 30
. i 152 7 113 93 107 5
100#5%4% | pa g 974 164 999 173 196 23
00 o | 155 30 115 98 108 17
i o kg 1,150 652 811 703 831 111
— o i 150 7 116 93 108 17
=
USSR AL I ER 341 178 215 176 959 28
DLFH AR S RTREE G 10170 110 FAR R -
2LFHFE PGB BRESATHERFE L2 TH
.oV - PRk Rk B
TR TR Ry SR P
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%6 BT E X F RIS T iS4

&% i add 7
L T W) . A T P 2 ¥ B 5 i % s
R 8 1 3 2 3 I 18
B b 1,252 466 682 363 541 70 3, 374
. oAl 8 I 3 2 3 I 13
99 52
* |mrak 1, 266 464 688 374 530 73 3, 395
- e 8 1 3 2 3 I 18
s
WERIE | p s 1,285 460 687 380 542 74 3, 428
. el 8 1 3 2 3 I 13
s
WERIE |y o 1,293 159 682 392 548 75 3, 449
. e 9 ! 3 2 3 ! 19
1004 5 1
F |pran 1,382 151 713 103 561 5 3, 585
. e e e 9 I 3 2 3 I 19
100# % 2
WFER2E lapan 1,409 445 708 401 56 75 3, 606
. T 9 1 3 2 3 1 19
s
0532 ppum 1,413 443 716 404 591 76 3. 643
. T 9 I 3 2 3 I 19
s
W0E34%  |praw 1,422 143 707 111 586 80 3, 649
i e e g 1 3 2 3 I 19
I=¥1%  lpr o 1,435 447 695 425 573 79 3, 654
26 BRI B FF R &g I 47
o & 50 D
¥ B i W P 3 % A L% 2 '?“L
. il 10 3 10 3 2 1 29
99 5 1
F prak 254 67 75 16 25 3 440
. e 10 3 10 3 2 I 29
s
WEXLE e 268 70 73 17 27 2 457
i e 9 3 12 3 2 I 30
99 3 ,
* lpruw 271 67 89 20 24 2 473
. oo 10 3 12 3 2 1 31
WEFAE oy e 280 68 84 20 23 2 177
s e 1 3 12 3 2 I 32
POIEF1E 1 ) ke 290 66 94 21 26 2 499
. e 10 3 12 3 2 I 31
0= %22 |p pake 300 12 102 20 28 2 494
. e e 9 3 12 3 2 1 30
100 %3
o lpaa 299 11 110 19 29 2 500
. s 9 3 12 2 2 - 28
=S
W0EFAE  |pessm 305 12 116 6 31 - 500
i ey 9 3 1 2 2 I 28
IE¥1%  |pens 318 38 120 8 33 3 520

e
[nd
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BLAH(SRTHRT S § R )

TR FR
‘,: At A W ¢ R @ e % B [ Fe J ?L
15 9 11 9 8 2 o4
538 246 319 490 320 37 1, 950
16 10 12 9 8 2 57
596 263 329 506 329 38 2,021
16 10 12 9 8 2 ¥
579 279 298 467 346 39 2,008
16 10 12 9 8 2 57
298 285 334 508 345 42 2,112
15 10 12 9 8 2 56
546 292 346 523 345 41 2,093
15 10 13 10 8 2 58
993 283 361 544 352 42 2,135
15 10 14 10 8 2 59
590 282 369 536 358 43 2,138
14 10 13 10 8 2 57
550 292 369 540 364 44 2,159
14 10 14 11 8 2 59
907 293 371 542 366 45 2,174
BLAl( ST RF T E R D)
B et
9 piad A v e '*;1 T % }3- “;’\ Fe J %‘L
2 | 4 3 - - 10
3 2 A7 17 - - 69
3 1 4 3 - - 11
5] 1 49 16 - - 71
3 l 4 3 - - 11
) | 48 16 - - 10
3 l 4 3 - - 11
6 1 49 17 - - 12
2 1 3 3 - - 9
4 | 47 16 - - 68
2 2 3 3 - - 10
3 25 49 16 - - 93
- 2 2 3 - - T
- 27 34 16 - - 17
1 2 2 3 - - 8
| 27 33 15 - - 76
- 2 3 4 - - 9
: 27 46 ol - - 100
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A 2L

&% K Jau) : &3 V
A T H| I A LA 2 B B L F o3t

. e 1,409 445 708 401 568 75 3, 606
.

WEFIE o p ok 9 I 3 2 3 1 19

095 524 e o i 1413 443 716 404 591 76 3643

T & K 2, 095 798 1,139 913 886 113 5, 944

. e o7 Hic 36 15 31 17 13 4 116

WEFIT |y puk 2, 140 807 1,192 883 912 115 5, 979
. e o7 e 37 15 31 17 13 4 117
.

WEFLL b 2,176 813 1, 149 937 916 119 6, 110
- e o7 i 37 15 30 17 13 4 116
HF

1004 % 1% e 2,222 810 1,200 963 932 118 6, 245
. e ot dic 36 16 31 18 13 4 118

100 %2 .

nEwis R 2, 265 795 1,220 981 948 119 6, 328

T 33 16 31 18 13 4 115

R 2, 262 793 1,229 975 978 121 6, 358

o e o7 i 33 16 30 17 13 3 112
HF

T T 2,278 804 1,225 972 981 124 6. 384
. o7 Hic 32 16 31 19 13 4 115
.

101 % 1% i B 4 2, 310 805 1,232 1,002 972 127 6, 448

LA kR s ATRES 10107, 17 R sl -
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&% R T
A F Y oA A Fe 2 B A % F o] 2t
EXLS 3 8 1 3 2 3 1 18
9& %1% |[Tmag 52. 95 48. 46 52. 26 50. 03 48. 32 54. 34 51.16
£ R L 14. 58 14. 66 14. 86 15. 10 14. 68 13.93 14. 71
EXES S 8 1 3 2 3 1 18
99# ¥2% |[Toeg 52. 92 48. 98 52. 35 50. 57 48. 06 54. 22 51.28
£ R L 14. 51 14. 52 15.10 14. 85 14. 55 13.28 14. 65
EXLS 3 8 1 3 2 3 1 18
99# %3% |[TimEd 53. 01 49.19 52. 02 50. 14 48. 24 54. 42 51. 26
= R L 14. 61 14. 58 15. 01 14. 92 14. 65 13.91 14. 71
P B 8 1 3 2 3 1 18
99# $4% [Tz 53. 24 49.12 51.83 50. 27 48. 40 54.15 51.33
R A 14. 25 14. 55 14. 61 14. 68 14.53 14. 59 14. 46
EXLS S 9 1 3 2 3 1 19
100& %1% [TioEs 53.53 48. 95 52.11 50. 45 48. 40 54. 37 51.54
£ R L 14. 36 14. 67 14. 72 14. 67 14. 57 14. 54 14. 54
EXTE S 9 1 3 2 3 1 19
100# %2% [Timzd 53.73 49. 26 52.10 50. 28 48. 65 55. 16 51.70
£ R L 14. 15 14. 48 14. 50 14.53 14. 39 14.12 14. 34
EXLS 3 9 1 3 2 3 1 19
100 3% |[Tiozd 53. 97 49. 28 51.95 50. 65 48.53 56. 59 51.81
£ W L 14. 30 14. 20 14. 93 14. 31 14. 34 14. 63 14. 43
EXLS 3 9 1 3 2 3 1 19
100# 4% [TimEd 54. 21 49.18 51.92 50. 74 48. 63 56. 60 51.92
£ R L 14. 39 14.12 14. 71 14.12 14. 38 15. 04 14. 40
P f fic 9 1 3 2 3 1 19
101& %1% [ToEe 54.19 48. 94 51.98 50. 67 48. 67 56. 70 51.91
£ SR L 14. 49 14. 42 14. 68 14. 07 14. 23 14. 83 14. 43
17 FATRGFE £ F ORI T g e
5% J vl PR F IR
A E Y oAt A T 2 W B A L F o2t
EXES 10 3 10 3 2 1 29
9& %1% |[Tmeg 57.58 59. 64 57.59 57. 68 53.92 43. 67 57. 60
= B 13.75 12.79 15.55 11.96 11.94 19. 63 13.79
EXTS 10 3 10 3 2 1 29
99# 52% |TimzEe 57.80 59. 00 58.58 52. 94 54. 81 38. 50 57. 67
£ SR 14. 40 13.78 17. 46 12. 61 12.10 24. 75 14. 66
EXES S 9 3 12 3 2 1 30
99# %3% |TimEd 57.07 58. 61 59. 52 592. 35 56. 58 38. 50 57. 45
£ R 7 14. 50 15.12 14. 65 10. 79 11.08 24. 75 14. 38
EXLE 10 3 12 3 2 1 31
99# 54% |TivE# 57.15 57.88 58. 80 52. 80 56. 26 39. 00 57.24
# R L 14. 65 15. 40 14.16 10. 75 10. 92 24. 04 14. 43
EXTE S 11 3 12 3 2 1 32
100 %1% [Timzd 56. 84 58. 36 57.97 53. 62 56. 77 39. 00 57.04
£ R L 14. 59 15. 50 14.10 11.07 10. 76 24. 04 14. 37
EXTE S 10 3 12 3 2 1 31
100 %2% [Timzd 56. 69 57.24 57.39 53. 95 55. 82 39. 50 56. 65
# R L 14. 94 15. 15 15. 00 11. 26 11.99 24. 75 14. 73
EXTE S 9 3 12 3 2 1 30
100# %3% [Timed 56. 08 57.42 56. 70 53. 84 54. 76 39. 50 56.10
£ R L 15. 31 15. 88 13. 63 11.59 16. 48 24. 75 15. 01
P f i 9 3 12 2 2 - 28
100 545 |THEEE 56. 14 56. 86 57. 64 52.33 54. 55 - 56. 40
. S LI 14. 93 16. 06 13. 34 13.05 15. 96 - 14. 74
EXTE S 9 3 11 2 2 1 28
101 %1% [Timz# 56. 08 55. 05 57. 36 53. 50 57.10 35. 67 56. 20
£ R 7 14. 21 16. 39 13. 06 13. 81 14. 64 18.58 14.17

N

(1) # T 30 {E =37 chT 30E #2535 B e B )2 e,/ & iz e

()& 845 £ =1 T = (B (s &AM )*( & 845 £ %2 8245 8))/(SUM( 5 & 2 80)-Fsit— (% ¢ 1 5))))

4. 8 % 5+ .

5. W4 pr i

SRR RGLF R FHE
©101.07. 12




oEE(ETRFTERE)

FHFR
o A e ¢ 3 ¥ B A i i
15 9 11 9 8 2 54
55. T4 52. 71 53. 62 54. 35 53. 97 56. 03 54. 37
14. 01 13. 03 13. 54 13. 94 12. 64 13.76 13.57
16 10 12 9 8 2 57
55. 92 52. 41 53. 31 54. 50 54. 70 56. 08 54. 49
14. 07 13.18 13. 47 13. 60 12. 88 14. 67 13.56
16 10 12 9 8 2 57
56. 12 52.11 52. 64 54. 91 54. 51 56. 75 54. 50
14. 05 13.15 12. 90 13. 43 12. 79 13. 75 13. 40
16 10 12 9 8 2 57
55. 78 52. 14 53. 15 54. 60 54. 98 56. 24 54. 47
13. 83 12. 55 12. 80 13. 66 12. 59 14.17 13. 27
15 10 12 9 8 2 56
55. 93 51. 98 53. 31 54. 40 54. 52 53. 44 54. 28
14.12 12. 61 13. 25 13. 39 12. 85 14. 42 13. 39
15 10 13 10 8 2 58
56. 48 52. 01 53. 26 54. 36 54.19 53. 09 54. 36
13. 86 12. 57 13.75 13.53 13. 20 14. 00 13. 49
15 10 14 10 8 2 59
56. 75 52.10 53. 58 54. 35 53. 98 52. 49 54. 44
14,11 12. 63 13. 62 13. 42 12. 79 14.19 13. 45
14 10 13 10 8 2 57
56. 84 52. 60 53. 78 54. 76 54. 09 51. 61 54. 65
14. 04 12. 73 13. 54 13. 48 12. 64 14. 34 13. 42
14 10 14 11 8 2 59
56. 82 53. 39 54. 52 55. 03 54. 43 51. 07 55. 00
14. 03 12. 83 13. 55 13. 50 12. 84 14. 46 13. 47
Lo (0 THRFT ¢RE)
B AP
o % F 3 % 3 5 % 3t
2 1 4 3 - - 10
48. 33 35. 00 50. 02 19.53 - - 19. 39
6. 36 12. 73 13. 96 8.48 - - 12. 75
3 1 4 3 - - 11
45. 20 26. 00 50. 20 49. 00 - - 49. 24
6. 72 13.82 .28 - - 12. 64
3 1 4 3 - - 11
45. 40 27.00 49. 96 49.19 - - 49.13
6. 40 0. 00 13. 56 8. 40 - - 12. 41
3 1 4 3 - : 11
49. 20 27. 00 50. 02 50. 47 - : 49.75
13. 00 13. 61 8. 60 - - 12,61
2 1 3 3 - : 9
59. 00 27. 00 49. 68 49. 68 - : 49. 90
5. 38 13. 52 8. 02 - - 12. 31
2 2 3 3 - - 10
63. 67 53. 24 49. 94 50. 00 - : 51.28
3.54 21. 03 13. 46 8. 28 - - 15.29
: 2 2 3 - : T
- 54. 30 51. 00 50. 19 - : 51. 99
- 20. 38 11. 78 8. 40 - - 15. 00
1 2 2 3 : 8
37. 00 54. 52 51. 21 49. 80 : 51. 92
20. 43 11.93 8. 44 - 15. 20
2 3 4 - : 9
58. 81 51. 11 51. 56 - - 53. 31
14. 26 13. 62 10. 41 - - 13. 07




27 BPREEEFRRBEETRE-AY

S THoEg(CRTHRFEER D)

5

NS
R o w)

5

cF > % o P % 5 5% 3 L5 I3
ERA 30 14 28 17 13 4 111
9#& %1% (T 04. 25 50. 72 52.91 52.99 50. 92 54. 62 52.70
AR A 14. 33 14.02 14.51 14. 33 13.92 14. 00 14. 26
ERA 38 15 29 17 13 116
99# %2% |ToEg 04. 33 50. 96 52.93 52. 77 50. 73 04. 57 52. 84
# i A 14. 37 14. 04 14. 75 14. 06 13. 89 13. 90 14. 27
EXEE S 36 15 31 17 13 116
99& % 3% |TivE& 54. 35 50. 96 52. 69 52. 69 50. 84 54. 93 52. 81
# i A 14. 44 14.16 14. 41 14. 00 13. 90 13. 99 14. 24
ERAE S 37 15 31 17 13 117
99# 54% |TimE# 54. 43 50. 88 52. 65 52. 67 51.08 54. 63 52.85
# A A 14.19 13. 97 14. 04 13. 99 13. 76 14. 56 14. 05
ERAE S 37 15 30 17 13 4 116
100 %1% [Tz 54. 56 50. 78 52. 82 52. 65 50. 90 53. 78 52. 88
# A A 14. 32 14. 05 14. 23 13. 85 13. 87 14. 61 14.13
ERAE S 36 16 31 18 13 4 118
100# %2% [Tz 54. 80 50. 79 52. 80 52. 62 50. 91 54. 17 52. 98
# A A 14.19 14.12 14. 29 13. 86 13. 90 14. 21 14.10
ERAE S 33 16 31 18 13 4 115
100& 3% [TmE# 54. 92 50. 87 52. 84 52.74 50. 71 54. 85 53. 03
# A A 14. 39 14.01 14. 37 13. 72 13. 87 14. 60 14.16
ERAE S 33 16 30 17 13 3 112
100# %4% [Tz 55. 09 51.00 53.00 52. 97 50. 84 54. 83 53.19
# A A 14. 38 13.99 14.19 13. 70 13. 82 14. 80 14.12
ERAE S 32 16 31 19 13 4 115
101& %1% [Timze 55. 08 51.18 53. 24 53. 07 51.13 54. 21 53. 32
# A A 14. 34 13. 96 14.17 13. 68 13.75 14. 77 14. 08
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28 BATA L EF AR E T B

P R Jo ] FEY
2 gy A ¢ R 3 W B A LW )3t

R 8 1 3 2 3 1 18

09# $1%  |=65K& B % 275 57 149 65 58 14 618
>65% F A 21. 96Y% 12. 23% 21. 85Y% 17.91% 10. 72% 20. 00% 18. 32%
Bt i 8 1 3 2 3 1 18
09 2% =654 B %k 272 58 152 71 55 15 623
=655 F A v 21. 48% 12. 50% 22. 09% 18. 98% 10. 38% 20. 55% 18. 35%
Bt i 8 1 3 2 3 1 18
09 %3%  |=65K& B %k 277 60 144 68 63 16 628
> 658 7 A 21. 56% 13. 04% 20. 96% 17. 89% 11. 62% 21. 62% 18. 32%
Bt i 8 1 3 2 3 1 18
09 $4% =654 B % 281 60 136 69 153 17 716
=655 F A v 21. 73% 13.07% 19. 94% 17. 60% 27. 92% 22. 67% 20. 76%

Bt i 9 1 3 2 3 1 19

100 %1%  |=65% B % # 312 59 148 71 67 16 673
=65% F A1 22. 58% 13. 08% 20. 76% 17. 62% 11. 94% 21. 33% 18. 7%
Bt i 9 1 3 2 3 1 19
100 $2%  |=654% B %% 317 59 143 67 67 17 670
=65% F A1 22. 50% 13. 26% 20. 20% 16. 71% 11. 80% 22. 67% 18. 58%

e 9 1 3 2 3 1 19

100 $3%  |=654& B %8 326 55 148 69 68 19 685
=65% F A1 23. 07% 12. 42% 20. 67% 17. 08% 11.51% 25. 00% 18. 80%

e 9 1 3 2 3 1 19

1004 $4% |=654& B 3 331 53 144 68 67 20 683
=65 F A1 23. 28Y% 11. 96% 20. 37% 16. 55% 11. 43% 25. 00% 18. 72%

e 9 1 3 2 3 1 19

101& %1% |=65k B % 335 53 136 71 64 19 678
=655 F A1 23. 34% 11. 86% 19.57% 16. 71% 11.17% 24. 05% 18. 56Y%
8 HIThip e ¥ TR PRI S H g P NS {7 #

&% R S .
B T B oA A T P 2 % B B L T o3t

e 10 3 10 3 2 1 29

99# %1%  |=654 B %8k 86 23 25 1 6 0 144
=655 F A1 33. 86Y% 34. 33% 33. 33% 25. 00% 24. 00% 0. 00% 32. 73%
Bt i 10 3 10 3 2 1 29
09 % 2%  |=654 B %k 91 24 26 2 6 0 149
=658 F A 33. 96% 34. 29% 35. 62% 11. 76% 22. 22% 0. 00% 32. 60%
Bt i 9 3 12 3 2 1 30
994 $3% =654 B % 89 23 32 2 6 0 152
=65% F A1 32. 84% 34. 33% 35. 96% 10. 00% 25. 00% 0. 00% 32. 14%

EREE S 10 3 12 3 2 1 31
99# %4%F | =654 B 2k 93 38 29 2 5 0 167
=654 F A 33. 21% 55. 88% 34. 52% 10. 00% 21. 74% 0. 00% 35. 01%

EREE = 11 3 12 3 2 1 32

100# %1% |=65% B % 93 22 30 3 6 0 154
=65% F A1 32. 07% 33. 33% 31. 91% 14. 29% 23. 08% 0. 00% 30. 86%

e 10 3 12 3 2 1 31
100 $2%  |=65k B %k 98 14 31 3 7 0 153
=65% F A1 32. 67% 33. 33% 30. 39% 15. 00% 25. 00% 0. 00% 30. 97%

e 9 3 12 3 2 1 30

100# $3%  |=654% B %8k 92 12 30 3 7 0 144
=65% F A1 30. 77% 29. 27% 27. 27% 15. 79% 24. 14% 0. 00% 28. 80%

e 9 3 12 2 2 0 28

100& $4% |Z65A B Rk 93 11 33 1 7 0 145
=65% F A1 30. 49% 26. 19% 28. 45Y% 16. 67% 22. 58Y% 0. 00% 29. 00%

P o i 9 3 11 2 2 1 28

101& %1% |=654 B %8k 96 9 33 2 9 0 149
=65 F A1 30. 19% 23. 68% 27. 50% 25. 00% 27. 27% 0. 00% 28. 65%

B LFEH AR R ATHRTEEI101ET7 11p 74w o
2FMBERE I AR BB BRESBTHISE LT
RIS W

(1) 8 % 30 (F20)65% & = & licz e
(2)4 5 % 32 (E20)65K T A v =654k 2 1B % ez Ao/ B sl Be

4, #] 2 H >
b. @l 4 R 0 101.07.12

PAREERGRFFE Eite



65K F (HATHFE /)

T 3 -735 3
i b W 3 B A L
15 9 11 9 8 54
152 46 76 108 70 464
28. 25% 18. 70% 23. 82% 22. 04% 21. 88% 32. 23. 79%
16 10 12 9 8 o7
158 48 72 114 80 484
28. 42% 18. 25% 21. 88% 22.53% 24. 32% 31. 23. 95%
16 10 12 9 8 57
162 49 58 107 80 468
27.98% 17.56% 19. 46% 22.91% 23.12% 30. 23. 31%
16 10 12 9 8 o7
163 50 66 111 80 482
2. 26% 17. 54% 19. 76% 21. 85% 23.19% 28. 22.82%
15 10 12 9 8 56
149 48 69 114 6 467
27. 29% 16. 44% 19. 94% 21. 80% 22.03% 26. 22.31%
15 10 13 10 8 58
151 44 2 117 T4 468
27.31% 15. 55% 19. 94% 21.51% 21.02% 23. 21.92%
15 10 14 10 8 59
150 46 8 116 73 472
27. 2% 16. 31% 21.14% 21. 64% 20. 39% 20. 22. 08%
14 10 13 10 8 o7
151 49 8 123 71 480
27. 45% 16. 78% 21.14% 22.78% 19.51% 18. 22.23%
14 10 14 11 8 29
150 o7 85 127 72 498
26. 93% 19. 45% 22.91% 23. 43% 19.67% 15. 22.91%
L hh % (L ATHRTT &R E)
B R
o A L e 3 W B A L F
2 1 4 3 - 10
1 0 9 0 - 10
33. 33% 0. 00% 19. 15% 0.00% - 14. 49%
3 1 4 3 - 11
1 0 9 0 - 10
20. 00% 0. 00% 18. 3% 0.00% - 14. 08%
3 1 4 3 - 11
1 0 8 0 - 9
20. 00% 0. 00% 16. 67% 0. 00% - 12. 86%
3 | 4 3 - 11
1 0 8 1 - 10
20. 00% 0. 00% 16. 33% . 88% - 13.89%
2 1 3 3 0 9
2 0 7 0 0 9
50. 00% 0.00% 14. 89% 0.00% 0.00% 0.00% 13. 24%
2 2 3 3 0 10
2 6 7 0 0 15
66. 67% 24. 00% 14. 29% 0.00% 0.00% 0.00% 16. 13%
0 2 2 3 - 7
0 7 3 0 - 10
0.00% 25. 93% 8. 82% 0.00% - 12. 99%
1 2 2 3 - 8
0 7 3 0 - 10
0.00% 25. 93% 9.09% 0.00% - 13. 16%
2 3 4 - 9
8 8 2 - 18
29. 63% 17.39% 7. 41% - 18. 00%




(D)E &L X (E )65k ¥ =7 B B ficz v
(2)F& #2 % 3T (E V)65 | A vt =655k 2 B R Bz Br/p B Sz B

RS SRS YUY R 1

5. ®W A pFRF 1 101.07.12

38 B R LEFRRAS T LB sl R 00A (S BTHESERE)
5% R o]
AN L A W g B i F e
EREE ‘S 35 14 28 17 13 4 111
99 5 1% =654 B & ¥k 514 126 259 177 134 26 1,236
=65/ | A v 25. 11% 16. 13% 23. 06% . 98% 15. 12% 23. 64% 21. 19%
Pl 38 15 29 17 13 4 116
99# %2F |6k Bk 522 130 259 187 141 27 1, 266
=654 | A 24. 92Y% 16. 29% 22. 74Y% . 48% 15.91% 23. 89% 21. 30%
P o e 36 15 31 17 13 4 116
99# $3% =65k Bk 529 132 242 177 149 28 1,257
=65k T A v 24. 72% 16. 36% 21.57% . 05% 16. 34% 24. 35% 21. 02%
P i 37 15 31 17 13 4 117
99# 4% =65k B % ¥k 538 148 239 183 238 29 1,375
=65 F A 24. 72% 18. 20% 20. 80% . 53% 25. 98% 24. 37% 22. 50%
Pl 37 15 30 17 13 4 116
100# $1%  [=65% B %4 556 129 254 188 149 27 1,303
=65 F A 25. 02% 15. 93% 21. 17% 19. 52% 15. 99% 22. 88Y% 20. 86Y%
P i 36 16 31 18 13 4 118
100# $2% =654 B %4 568 123 253 187 148 27 1,306
> 65k F A 25. 08Y% 15. 47% 20. 74% 19. 06% 15.61% 22. 69Y% 20. 64%
R 33 16 31 18 13 4 115
100# $3% =654 B %4 568 120 259 188 148 28 1,311
=65k | A 25. 11% 15. 13% 21. 07% 19. 28% 15. 13% 23. 14% 20. 62%
Pt e 33 16 30 17 13 3 112
100# 5$4%  [=65% B %8 575 120 258 192 145 28 1,318
> 65k F A 25. 24% 14. 93% 21. 06% 19. 75% 14. 78% 22. 58% 20. 65%
Fa A e 32 16 31 19 13 4 115
101 %1% =654k B 24k 581 127 262 202 145 26 1,343
> 65k | A 25. 15% 15. 78% 21. 27% 20. 16% 14. 92% 20. 47% 20. 83%
EILFHRR R SATRFFEI01ETY 11p T et -
2FHER RSB FRESETHRFL TR
3. vwmp







'3

5

BRI E A S 4 o §

3 R vl FHS
AR > A A F T 2 T B & LT o2t
ERES S 8 1 3 2 3 1 18
99# ¥ 1% A B % i 286 80 139 67 84 31 687
Ve R A 22. 84Y% 17. 17% 20. 38% 18. 46% 15. 53% 44. 29Y% 20. 36Y%
Pt B 8 1 3 2 3 1 18
99 5 2% o B % B 289 82 138 70 79 33 691
R RE R & 22. 83% 17.67% 20. 06% 18. 72% 14. 91% 45. 21% 20. 35%
EXES 3 8 1 3 2 3 1 18
99# % 3% A B % i 293 79 140 71 80 34 697
VR E A 22. 80% 17.17% 20. 38% 18. 68% 14. 76% 45. 95% 20. 33%
Bt i 8 1 3 2 3 1 18
99& $ 4% W Ao B % 295 78 142 72 84 35 706
BB A 22. 82% 16. 99% 20. 82% 18. 37% 15. 33% 46. 67% 20. 47%
Bt B 9 1 3 2 3 1 19
100# %1% ¥ Fom B % B 328 75 161 75 82 36 757
PR R A 23. 73% 16. 63% 22. 58% 18. 61% 14. 62% 48. 00% 21.12%
P i 9 1 3 2 3 1 19
100 % 2% e F B % i 329 73 165 7 87 36 767
PR A 23. 35% 16. 40% 23. 31% 19. 20% 15. 32% 48. 00% 21. 27%
B i 9 1 3 2 3 1 19
100 % 3% & P 1B % e 335 77 166 79 98 39 794
PR A 23. 71% 17. 38% 23.18% 19. 55% 16. 58% 51. 32% 21. 80%
Bt i 8 1 3 2 3 1 18
100 4% & P B % e 264 70 124 51 68 25 602
PEHEE A 21. 39% 15. 49% 18. 73% 16. 29% 14. 72% 39. 68Y% 18. 90%
P A i 9 1 3 2 3 1 19
101 %1% & P B % i 337 76 156 86 93 40 788
WERRBE A 23. 48Y% 17.00% 22. 45% 20. 24% 16. 23% 50. 63Y% 21.57%
29 BT AL EFR MBS TS BB
&3 LB : - . Lk I - -
AR ot % L R ® A L o] 3t
EXTE 3 10 3 10 3 2 1 29
99 %1% P B % i 100 26 14 4 4 1 149
PR R A 39. 37% 38. 81Y% 18. 67% 25. 00% 16. 00% 33. 33% 33. 86Y%
Bt i 10 3 10 3 2 1 29
99# 5 2% 1o B % i 109 24 19 4 4 1 161
T A 40. 67% 34. 29% 26. 03% 23. 53% 14. 81% 50. 00% 35. 23Y%
Bt i 9 3 12 3 2 1 30
99# % 3% Y AR B % B 104 21 24 7 3 1 160
W BT A 38. 38Y% 31. 34Y% 26. 97% 35. 00% 12. 50% 50. 00% 33. 83Y%
Pt i 10 3 12 3 2 1 31
99 % 4% e F B % B 101 24 21 7 3 1 157
¥ Fm R A 36. 07% 35. 29% 25. 00% 35. 00% 13. 04% 50. 00% 32.91%
Pt i 11 3 12 3 2 1 32
100 %1% Vo B % B 111 29 23 7 3 1 167
W BT A 38. 28Y% 33. 33Y% 24. 47% 33. 33% 11. 54% 50. 00% 33. 47%
Bt i 10 3 12 3 2 1 31
100 % 2% Vo B % B 114 15 24 6 4 1 164
PR A 38. 00% 35. 71% 23. 53% 30. 00% 14. 29% 50. 00% 33. 20%
Pt i 9 3 12 3 2 1 30
100 % 3% P B % i 106 12 30 6 4 1 159
W BT A 35. 45% 29. 27% 27. 2% 31.58% 13. 79% 50. 00% 31. 80%
Bt i 5 2 6 3 1 1 18
100# 5 4% o B % B 61 16 14 6 1 1 99
BB R A 41. 22% 37. 21% 25. 00% 33. 33% 11.11% 50. 00% 35. 87Y%
B fr i 9 3 11 2 2 1 28
101# %1% W Fop B % B 106 13 34 1 7 2 163
RGBT A 33. 33% 34. 21% 28. 33% 12. 50% 21. 21% 66. 67% 31. 35%
LER KR 2 THFSE €101 07, 127 4148 74 -
2. 2P

() A B 5 = Fom B % B2 e

QBT A =A% He2 S/  & 2 e

3. WA H

SR GR TR EHE

4. @4 prR 0 101.07.12



S R TRF R /)

TR
i % PR 3 T B 5 A% 3t
15 9 11 9 8 2 54
177 83 81 142 120 13 616
32. 90% 33. 4% 25. 39% 28. 98% 37. 50% 35. 14% 31. 59%
16 10 12 9 8 2 57
180 93 86 150 124 13 646
32. 37% 35. 36% 26. 14% 29. 64% 37. 69% 34. 21% 31. 96%
16 10 12 9 8 2 57
193 93 70 168 130 13 667
33. 33% 33. 33% 23. 49% 35. 97% 37. 5% 33. 33% 33. 22%
16 10 12 9 8 2 57
196 100 89 159 130 14 688
32. 8% 35. 09% 26. 65% 31. 30% 37. 68% 33. 33% 32. 58%
15 10 12 9 8 2 56
181 103 92 170 129 13 688
33. 15% 35. 2% 26. 59% 32. 50% 37. 39% 31. 1% 32. 87%
15 10 13 10 8 2 58
186 98 97 171 125 14 691
33. 63% 34. 63% 26. 87% 31. 43% 35. 51% 33. 33% 32. 3%
15 10 14 10 8 2 59
188 99 104 169 120 15 695
34. 18% 35. 11% 28. 18% 31. 53% 33. 52% 34. 88% 32.51%
14 9 11 9 8 2 53
135 68 64 122 89 8 486
27. 44% 31. 19% 23. 19% 27. 3% 33. 9% 36. 36% 28. 42%
14 10 14 1 8 2 59
187 106 106 174 127 13 713
33. 5% 36. 18% 28. 57% 32. 10% 34. 0% 28. 89% 32. 80%
hR B ETEF T RE)
B AP
B % ¢ % 5 % 35 L% I 3*
2 1 4 3 - - 10
0 1 7 2 - - 10
0. 00% 50. 00% 14. 89% 11. 76% - - 14. 49%
3 1 4 3 - - 11
0 0 7 1 - - 8
0. 00% 0. 00% 14. 29% 6. 25% - - 11 27%
3 1 4 3 : - 1
0 0 7 1 - - 8
0. 00% 0. 00% 14.58% 6. 25% - - 11. 43%
3 1 4 3 : - T
1 0 7 1 : - 9
20. 00% 0. 00% 14. 29% 5. 88% - - 12, 50%
2 1 3 3 - - g
1 0 6 1 : - 8
25. 00% 0. 00% 12. 7% 6. 25% - - 11. 76%
2 2 3 3 - - 10
1 9 8 1 : - 19
33. 33% 36. 00% 16. 33% 6. 25% - - 20. 43%
0 2 2 3 - - T
0 9 6 1 : - 16
0. 00% 33. 33% 17. 65% 6. 25% - - 20. 78%
2 1 4 4 : - 11
0 1 10 4 - - 15
0. 00% 50. 00% 20. 41% 19. 05% - - 20. 00%
- 2 3 4 - - 9
: 11 7 3 : - 21
- 40. 74% 15. 22% 1. 11% - - 21. 00%




29 B1T RIS % FRIRIEE T A K

ST AR TR (TR G R

. | v
* ? A Fe W) o A A v E 2 W B & L F C3t
T 35 14 28 17 13 4 111
99 5 1% R B % i 563 190 241 215 208 45 1, 462
WERORTE A 27.50% 24, 33% 91. 46% 24, 27% 23. 48% 40, 91% 25. 06%
B A i 38 15 29 17 13 4 116
99 5 2% W o B % o 578 199 950 995 207 47 1506
BE RGBT A b 27.59% 24, 94% 21. 95% 24, 64% 23. 36% A1.59% 95. 34%
7 i 36 15 31 17 13 4 116
994 5 3% o B % i 590 193 241 247 213 48 1,532
WERORT A 27.57% 93. 92Y% 21. 48% 27.97% 23. 36% A1, T4% 25. 62%
7 i 37 15 31 17 13 4 117
994 54% o B % i 593 202 259 239 217 50 1, 560
BRRE AW 27, 25% 24, 85% 29. 54% 25. 51% 23, 69% 42, 02% 95. 53%
7 i 37 15 30 17 13 4 116
100 %1% |4 50m B %8k 621 200 982 953 214 50 1, 620
WERORTE A 27. 95% 24. 69Y% 23. 50% 26. 27% 22. 96Y% 42, 37% 25. 94%
7 i 36 16 31 18 13 4 118
100 % 2% |4 5om B % 8K 630 195 294 955 216 51 1, 641
WERORT A 27.81% 24, 53% 24. 10% 25. 99% 29, 78% 42, 86Y% 25. 93%
o i 33 16 31 18 13 4 115
100 %3% |4 5op B %8k 629 197 306 255 299 55 1, 664
WERORTE A 27.81% 24, 84% 24. 90% 26. 15% 22. 70% 45, 45Y% 26. 17%
ey 29 13 24 18 12 4 100
100 $4% |4 Fom % 8K 460 155 212 183 158 34 1,202
WERORTE A 24.51% 21. 68% 20. 33% 93. 11% 21. 56% 39. 08% 22. 91%
ey 32 16 31 19 13 4 115
101 %1% |4 Fom B %8k 630 206 303 264 297 55 1, 685
BRRE AV 27.27% 25. 59% 24. 59Y% 26. 35% 23. 35% 43. 31% 26. 13%
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%10 B47 05T % £ FRORI S T -5 475

&% i FFe
S e %) \,:- At A W - ";1 e Fg A “;‘\‘\{2‘: 2 ’?“L
. . 8 1 3 2 3 1 18
99 % |
S P 16 6 9 0 7 4 42
. P 8 1 3 2 3 1 18
09# %2
Folre pam 16 3 12 2 5 3 41
. . 8 1 3 9 3 1 18
99 %3
o pan 17 4 7 5 6 2 A1
. i 8 1 3 2 3 1 18
.
WEFAZ L ik 99 10 6 5 9 1 16
i |TE 8 1 3 9 3 1 18
e A 71 23 34 19 20 10 170
. P 9 1 3 7 3 1 19
3
00= %15 | a g 39 4 11 5 5 0 57
- P 9 1 3 2 3 1 19
100& %2
00 535 | 1 3 2 3 1 19
e BRI 18 5 11 2 4 0 40
0k 54z | 9 1 3 2 3 1 19
Mok 27 4 6 5 9 0 51
I 9 1 3 9 3 1 19
P 86 17 37 15 29 0 177
. Ty 9 1 3 7 3 1 19
WI=%1%F 15 pa g 29 4 6 4 1 2 46
410 H47 838 ¥ %5"1%5 PR3 & F dp PR it 475
AR oA A L 2 Ve B A LW o] 2t
. . 10 3 10 3 2 1 29
99 ¥ |
P pam 1 3 0 1 1 0 6
. P 10 3 10 3 2 1 29
99 %9
o pan 1 6 1 1 0 0 19
. . 9 3 12 3 9 1 30
99 %3
o pan 6 0 3 0 0 0 9
. P 10 3 12 3 2 1 31
9« %4 )
T pam 9 % ] 0 0 0 13
g o |TE 10 3 12 3 9 1 31
R ik 27 12 5 2 1 0 A7
. . 11 3 12 3 2 1 32
=+
0= %1 1 s 9 9 2 0 1 0 14
. . 10 3 12 3 2 1 31
100£ %2
0#%2% |, san 6 2 1 1 0 0 10
. P 9 3 12 3 2 1 30
E3s
1005 %3% 1. . an 8 2 0 0 0 1 11
. P 9 3 12 9 9 — 28
100 & %
o pan 8 5 2 0 2 0 17
005 1 |FTEE 11 3 12 3 2 1 32
e A 31 11 5 1 3 1 52
. P 9 3 11 2 9 1 28
101 & %
LERLE | aam 9 0 1 0 1 0 11
L TR o ATRTE 10107, 117 e -
2. P L BRSSPk B
SHAHE 0 LR REHTFEL FHE
4, 8/ £ R 0 101.07.12



R EEGERTHRFE LR

&iﬁi%ﬂ‘;{,
% 35
15 9 11 9 8 2 54
9 4 6 11 3 0 33
16 10 12 9 8 2 57
10 4 6 14 2 1 37
16 10 12 9 8 2 57
15 7 4 5 1 38
16 10 12 8 2 o7
17 5 6 8 2 45
16 10 12 8 2 o7
51 20 22 43 18 4 158
15 10 12 9 8 2 56
7 9 5] 4 5 1 31
15 10 13 10 8 2 58
18 4 2 6 6 1 37
15 10 14 10 8 2 59
10 4 3 2 4 0 23
14 10 13 10 8 2 57
18 4 7 10 4 2 45
15 10 14 10 8 2 59
53 21 17 22 19 4 136
14 10 14 11 8 2 59
17 D 7 4 4 0 37
B EECCATHRF Y f A
ER 2
7 W B A

2 1 4 3 - 10
0 0 0 0 0 0 0
3 | 4 3 - 11
0 0 1 0 0 0 1
3 | 4 3 - 11
0 0 0 0 0 0 0
3 1 4 3 - 1 11
0 0 0 0 0 1 0
3 1 4 3 1 11
0 0 1 0 0 1
2 | 3 3 - 9
0 0 0 0 0 0 0
2 2 3 3 - 10
0 0 0 0 0 0 0
2 2 3 - 7

0 0 0 0 0 0 0
1 2 2 3 - 8
0 0 0 0 0 0 0
2 2 3 3 - 10
0 0 0 0 0 0 0
2 3 4 - 9

0 1 0 0 0 0 1
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=
WeERIE | an 26 13 15 19 11 4 81
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=
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WERIE L pam 38 1 14 11 11 3 88
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=
WERAE L am 48 18 13 19 10 3 104
N X 37 15 31 17 13 4 117
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=
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=
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00E p o | 37 16 32 18 13 4 120
U P 170 49 59 38 44 5 365
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1012 51
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T te5.1 BATRIE X FRIRAEE T h-n R 347 o F 9 30 (Albumin)( ¢ B TRF F § %)

% & ¥
5 e Fv‘] L: At A Fe é Fe % B % Fe 2k ’é‘"

B o i 8 2 3 2 3 1 19
Albumin-% # % 98. 37% 98. 20% 98. 71% 97. 86% 99. 23% 97. 62% 98. 55%
Albumin(BCG) 3 8 2 2 2 3 0 17
R 3. 99 3. 92 3. 89 3. 87 3. 85 0. 00 3. 92
Albumin(BCG)<3. 5F 4 1 10.61 % 10,20 % 10,64 % 14,92 % 11,94 % 0.00 % 11,29 %
Albumin(BCP) i 0 0 1 0 0 I 2
Albumin—= ¥5 & (BCP) 0. 00 0. 00 3. 42 0. 00 0. 00 3. 34 3. 39
Albumin(BCP)<3. 0F A 1 0.00 % 0.00 % 9.60 % 0.00 % 0.00 % 12.20 % 10. 63 %
e ot B 8 2 3 2 3 1 19
Albumin-% # % 97. 81% 98. 34% 98. 68% 98. 57% 98. 79% 98. 75% 98. 35%
Albumin(BCG) Fic g 9 2 2 3 | 19

ggi s |Abumin(BCG)= 5 3.93 3.92 3. 87 3. 86 3. 87 3. 85 3. 90
' |Albumin(BCG)<3. 5F 4 12.68 % 10,95 % 13.41 % 13.40 % 10,72 % 13.40 % 12,92 %
Albumin(BCP) & | 0 | 0 0 1 3

Albumin-= 35 (BCP) 3. 68 0. 00 3. 32 0. 00 0. 00 3. 34 3.51
Albumin(BCP)<3. 0F A 4.36 % 0.00 % 15. 65 % 0.00 % 0.00 % 12,44 % 9.03 %

ot B g 2 3 2 3 1 20
Albumin- % # 97. 67% 98. 40% 97. 56% 97. 7% 98. 41% 98. 34% 97. 92%

Albumin(BCG) Fic 9 9 9 9 3 - 18

T 4.02 3. 99 3. 92 3. 87 3. 85 - 3. 95
Albumin(BCG)<3. 5F A 1 8. 62% 8. 54% 10. 80% 10. 53% 10. 59% 0. 00% 9. 54%

Albumin(BCP) Fic - - 1 - - 1 2

Albumin- 5 (BCP) 0. 00 0. 00 3. 35 0. 00 0. 00 3. 33 3. 34
Albumin(BCP)<3. 0F A 1 0. 00% 0. 00% 12, 10% 0. 00% 0. 00% 11, 20 11, 72%

oot B 9 2 3 2 3 I 20
Albumin-% # % 96. 45% 97. 60% 97. 7% 97. 53% 98. 05% 98. 91% 97. 30%
Albumin(BCG) Fic g 9 9 2 3 0 18
l00% g5 |\bumin(BCO)= 5 4.03 3.91 3. 95 3. 80 3. 87 0. 00 3.95
Albumin(BCG)<3. 5F A 1 8. 45% 11. 06% 8. 85 12. 38% 10, 19% 0. 00% 9. 54%
Albumin(BCP) i 0 0 I 0 0 I 2
Albumin-= 5 i (BCP) 0 0 3. 42 0 0 3. 29 3. 36
Albumin(BCP)<3. 0F A +* 0 0 0. 086 0 0 0.138 0. 1081

o B 10 > 3 ) 3 1 21
Albumin-% # 97. 40% 98. 97% 96. 89% 97. 81% 98. 79% 98. 90% 97. 87%

Albumin(BCG) Fic 10 9 y 9 3 - 19

1005 535 |bumin(BCO)= s 4.05 3. 90 4. 00 3.81 3. 86 - 3. 96
Albumin(BCG)<3. 5F A 1 7.91% 9. 98% 9. 06% 12, 74% 10, 42% 0. 00% 9. 03%

Albumin(BCP) i - - 1 - - | 2

Albumin-= 35 (BCP) 0. 00 0. 00 3. 39 0. 00 0. 00 3. 30 3. 35
Albumin(BCP)<3. 0F A 0. 00% 0. 00% 10, 60% 0. 00% 0. 00% 13. 30% 11, 74%

b B 10 ) 3 ? 3 1 21
Albumin-% # 96. 95% 98. 15% 96. 76% 96. 81% 98. 86Y% 96. 20% 97. 43%

Albumin(BCG) T 10 y y 9 3 - 19

1005 45 |Mbumin(BCO)= 5 4.05 3. 84 3.94 3. 88 3. 87 - 3. 96
Albumin(BCG)<3. 5F A 1 7.53% 14. 28% 8. 83% 14. 96% 10. 93% 0. 00% 9. 85%

Albumin(BCP) Fic - - 1 - - | y

Albumin-= 35 i (BCP) 0 0 3. 45 0 0 3. 38 3. 42
Albumin(BCP)<3. 0F A 1 0. 00% 0. 00% 10, 30% 0. 00% 0. 00% 13. 00% 11, 41%

oot B 10 ? 3 ) 3 1 21
Albumin-% # % 97. 12% 98. 27% 97. 24% 97. 47% 98. 53% 98. 08% 97. 63%

Albumin(BCG) e 10 y y 9 3 - 19

1005 s [Mbumin(BOG)= i 4. 04 3.91 3. 95 3. 84 3. 86 - 3. 95
* |AIbumin(BCG)<3. 5 4 » 8. 00% 10. 95% 9. 38% 12. 67% 10. 53% 0. 00% 9. 50%
Albumin(BCP) Fic - - 1 - - 1 y
Albumin- 5 (BCP) 0 0 3.4 0 0 3. 32 3. 37
Albumin(BCP)<3. 0F 4 0. 00% 0. 00% 10, 40% 0. 00% 0. 00% 12, 834 11, 42%

ot B 10 > 3 ) 3 T o1
Albumin-% # % 97. 00% 98. 36% 98. 67% 98. 33% 98. 93% 99. 45% 98. 02%

Albumin(BCG) Fic 10 9 y 9 3 - 19

o Albumin(BCG) 51 3. 99 3. 87 3. 94 3. 85 3. 83 - 3. 92
1= %1%y pumin(BCG) = 3. 57 A4 1 91. 68% 85. 38% 91. 14% 85. 54% 86. 83% 100. 00% 89. 24%
Albumin(BCP) 3 - - | - - | y

Albumin-= 35 i (BCP) 0. 00 0. 00 3. 37 0. 00 0. 00 3. 32 3. 35
Albumin(BCP)=3. 0F 4 100. 00% 100. 00% 84. 80% 100. 00% 100. 00% 89. 60% 86. 74%

#ix:

R

WL FARRR D SETHERFE 610107 LT R e -
2FAPE T AP BB FRESETHFF LT
3.

AN 2

(1) % t S =(Albumintk » #c o fr)/ Op & ez o)

(2)F32iE=(4k > kT 3018 )2 i/ > ez {fr
(3)= 3.5 gn/dl (BCG)# =3.0 gm/dl (BCP) 7 4+ =[((3%FAlbumin= 3.5 gm/dl (BCG)z =3.

4. i p @
(1% 4 5 =90% -

() tFscrtE2 101847 9p ¥ i3 510100070295 32 2> p 101 &4 & 5 = 3.5 gn/dl

b, @l & pER 1 101.07.12

0 gn/dl (BCP) F A v k3% Faz % 4 #)2 4,fe)/ (% * #ic2 4,40))*100]

(BCG) 2+ =3.0 gm/dl (BCP) 7 A4+ = T5%: 2R & #5&>80% -




M T B A i W
19 11 15 12 10 5 2
97. 08% 98. 90% 98. 75% 98. 40% 97.97% 96. 96% 98. 08%
15 10 13 11 10 5 64
3. 84 3.79 3.98 3.90 3.90 4.01 3. 89
15.39 % 18.01 % 12.00 % 11.31 % 12.28 % 8.25 % 13.64 %
4 1 2 1 0 0 8
3. 60 3.73 3. 34 3. 15 0.00 0.00 3.49
10.76 % 3.20 % 11.62 % 27.20 % 0.00 % 0.00 % 12. 17 %
19 11 15 12 10 5 12
97. 16% 98. 68% 98. 95% 98. 5% 98. 03% 96. 94% 98. 14%
15 10 13 12 10 5) 65
3.83 3.75 3.93 3. 88 3. 89 3.92 3. 86
16.32 % 19.12 % 13.62 % 12.36 % 12.06 % 13.79 % 14.63 %
4 1 2 1 0 0 8
3.58 3.5 3. 30 3. 15 0.00 0.00 3. 37
11.52 % 3.51 % 15.18 % 27.20 % 0.00 % 0.00 % 17.70 %
18 11 15 12 10 5 71
97. 25% 98. 49% 98. 71% 98. 26% 97.04% 97. 46% 97.90%
14 10 13 12 10 5 64
3.78 3.78 3.90 3. 84 3. 86 4.00 3. 84
19. 65% 19. 10% 14. 64% 14. 38% 14. 39% 9. 24% 16. 18%
4 1 2 - - - 7
3.09 3.63 3. 26 0.00 0.00 0.00 3. 50
9. 98% 7.00% 18. 8% 0. 00% 0. 00% 0.00% 11.97%
18 11 15 12 10 5) 71
97.17% 98. 46% 98. 85% 98. 59% 97. T4% 95. 45% 98. 03%
14 10 13 11 10 5) 63
3. 77 3.77 3. 96 3. 86 3.90 3.90 3.85
19.07% 18. 53% 13.19% 13. 49% 11.79% 13. 08% 15. 18%
4 1 2 1 0 0 8
3. 62 3.5 3.29 3.19 0 0 3.49
0. 0883 0.047 0. 1137 0. 249 0 0 0.1129
18 11 15 12 10 5 71
97. 49% 99. 14% 99. 02% 99. 05% 96. 96% 97.81% 98. 28%
14 10 13 11 10 5 63
3.75 3. 77 3.93 3. 83 3.83 3. 87 3. 82
20. 63% 17.12% 13. 31% 14. 93% 14.41% 18. 18% 16. 2%
4 1 2 1 - - 8
3.61 3.58 3. 33 3.08 0.00 0.00 3.45
1. 31% 9. 90% 10. 73% 33. 50% 0.00% 0.00% 12. 04%
17 11 15 12 10 4 69
97. 02% 98. 53% 98. 85% 98. 96% 97. 18% 98. 84% 98. 08%
13 10 13 11 9 4 60
3.79 3. 82 3. 97 3. 87 3. 87 3.91 3. 86
17. 48% 14. 62% 11. 34% 13. 12% 13. 13% 15. 58% 14. 11%
4 1 2 1 1 - 9
3. 64 3.6 3. 36 3. 16 3. 97 0 3. 56
9. 23% 5. 40% 11.81% 23. 30% 1. 30% 0.00% 9. 93%
18 11 15 12 10 6 71
97. 23% 98. 66% 98. 86% 98. 72% 97. 23% 97.39% 98. 07%
14 10 13 12 10 6 64
3.77 3.79 4 4 4 4 4
19. 20% 17.33% 13.12% 14. 85% 13.03% 14. 29% 15.47%
4 1 2 1 | - 9
3.62 3. 64 3.31 3.15 3. 97 0 3.67
8. 84% 9. 4% 13. 13% 26. 66% 1. 30% 0.00% 8. 12%
17 11 15 12 10 4 69
96. 99% 99. 00% 98. 96% 99. 11% 97. 80% 98. 60% 98. 30%
13 10 14 11 10 4 62
3.5 3.78 3. 87 3. 89 3.89 3. 96 3. 84
8. 47% 83. 95% 82.59% 87.06% 87.73% 87.17% 83. 98%
4 1 1 1 - - 7
3.68 3.54 3. 33 3.21 0.00 0.00 3. 92
89. 50% 93. 10% 89. 30% 76. 20% 100. 00% 100. 00% 87.76%




1851 SRS £ R RS T r 1 by 30 (Albumin)(2 BT RE L £ # 2

£% R R ‘
B e 5 oAt A % PR 2 B A L F o3t

P #7 Hic 39 28 40 23 33 ) 168
Albumin-= # % 97. 84Y% 97. 72% 96. 48% 98. 88Y% 98. 12% 97.51% 97. 68Y%
Albumin(BCG) Ik 35 26 32 18 33 4 148
005 4% Albumin(BCG) T 35 & 3. 88 3.95 3.92 3. 88 3. 83 3. 80 3. 89
Albumin(BCG)<3. 5F 4~ +* 15.93 % 10.22 % 10.70 % 14.43 % 16.15 % 13.92 % 13.48 %
Albumin(BCP) k& 4 2 8 5 0 1 20
Albumin—-* =2 (BCP) 3.76 3.7 3. 38 3.33 0.00 3. 36 3. 48
Albumin(BCP)<3. 0F A 7.74 % 4.44 % 12.87 % 18.73 % 0.00 % 5.30 % 11.43 %
[ERES S 39 28 40 23 33 5 168
Albumin-= # & 97. 72% 97. 76% 98. 09% 98. 91% 97. 87% 96. 99% 97. 96%
Albumin(BCG) Rk 35 26 32 19 33 4 149
Albumin(BCG) T 35 & 3.89 3.93 3.91 3.85 3.82 3.77 3.88
99 .| 2+ Albumin(BCG)<3. 55 A 1 14.03 % 10. 80 % 10. 77 % 14.83 % 15.91 % 15.13 % 13.23 %
Albumin(BCP) dic 6 2 8 6 0 1 23
Albumin--* 2 i& (BCP) 3. 71 3.7 3. 37 3. 34 0.00 3. 33 3.48
Albumin(BCP)<3. 07 4 +* T.72 % 4.62 % 12.45 % 15.71 % 0.00 % 8.85 % 11.17 %

B o i 41 28 39 23 34 5 170
Albumin-= # & 97. 84Y% 98. 06% 98. 30% 98. 52% 97. 64% 95. 92% 97. 98%

Albumin(BCG) -tk 36 26 32 18 34 4 150

1004 512  |Albumin(BCG)* 35 3.92 3.93 3.90 3. 86 3. 81 3.75 3. 89
Albumin(BCG)<3.5F 4~ +* 11.37% 11.79% 11.75% 14. 45% 15. 83% 17.65% 12. 96%

Albumin(BCP) & 5} 2 7 5 - 1 20

Albumin--* 32 & (BCP) 3.50 3.85 3. 38 3. 48 0.00 3. 27 3. 47
Albumin(BCP)<3. 07 4 +* 11.31% 2. 93% 12.24% 15. 24% 0.00% 13. 90% 11.58%
B 7 i 41 28 38 24 34 5 170
Albumin-= # & 97. 78% 97. 95% 98. 09% 98. 42% 97.51% 98. 70% 97. 95%
Albumin(BCG) Rk 36 26 31 19 34 4 150
100 5 9% Album@n(BCG)i’ 2iE 3.89 3.91 3. 88 3. 88 3. 81 3. 78 3. 87
Albumin(BCG)<3.5F A~ +* 12. 96% 11.97% 11.98% 13.00% 15. 38% 15. 30% 13. 08%
Albumin(BCP) k& 5 2 7 5 0 1 20
Albumin-- ¥ & (BCP) 3. 47 3. 83 3.34 3. 42 0 3.39 3. 44
Albumin(BCP)<3. 0@ 4 +* 0.118 0. 0288 0.1494 0.2 0 0.119 0.1339

EXLS i d 42 29 38 24 34 5} 172
Albumin-= # & 97. 79% 98. 43% 98. 76% 98. 70% 98. 42% 98. 2% 98. 39%

Albumin(BCG) Fdic 36 27 31 19 34 4 151

100& 5 3% Album@n(BCG)i’ ¥\ 3. 88 3.92 3. 84 3. 86 3. 82 3. 76 3. 86
Albumin(BCG)<3.5F A + 12. 57% 11.08% 13. 31% 14. 54% 15. 13% 16. 29% 13. 22%

Albumin(BCP) #Jk 6 2 7 5 - 1 21

Albumin-- 32 & (BCP) 3. 62 3. 81 3.35 3. 44 0.00 3.26 3.50
Albumin(BCP)<3. 05 4 +* 7.19% 4.16% 12. 95% 16. 92% 0. 00% 14. 80% 10. 65%

B 7 42 29 37 24 34 4 170
Albumin-= ¥ & 98. 08% 98. 60% 98. 37% 98. 66% 98. 50% 98. 98% 98. 42%

Albumin(BCG) -tk 37 27 31 18 34 3 150

1004 5 4% Album@n(BCG)i B2iE 3.93 3.90 3.94 3. 86 3.82 3. 87 3.89
Albumin(BCG)<3.5F 4~ +* 10. 79% 12. 05% 8. 90% 12.99% 14. 66% 9. 73% 11.68%

Albumin(BCP) & 5 2 6 6 - 1 20
Albumin-- 35 i& (BCP) 3.45 3.9 3. 38 3.47 0 3. 28 3. 46
Albumin(BCP)<3. 07 4 * 11.51% 2. 40% 11.00% 15. 25% 0.00% 22. 50% 11.79%

[ERES S 42 29 39 24 34 5} 173
Albumin-= # ¥ 97. 81% 98. 26% 98. 38% 98. 58% 98. 07% 98. 04% 98. 18%

Albumin(BCG) Ik 37 27 32 19 34 4 153

1004 | 2+ Albumin(BCG) T #5i& 3. 91 3.92 3.89 3. 87 3. 82 3. 78 3. 88
F Albumin(BCG)<3. 5F A + 11. 75% 11.70% 11. 37% 14. 16% 15. 25% 15. 59% 12. 75%

Albumin(BCP) i 5 2 7 6 - 1 21
Albumin-- 35 i& (BCP) 3. 47 3.85 3. 36 3.49 0 3.3 3. 46
Albumin(BCP)<3. 0@ 4 +* 11.18% 3. 09% 12.74% 11.21% 0.00% 15.77% 11. 32%

EXLS i d 41 29 39 24 34 4 171
Albumin-= # & 97. 75% 98. 39% 98. 30% 98. 03% 97. 82% 94. 38% 97. 98%

Albumin(BCG) Ik 35 26 32 18 34 4 149

Albumin(BCG) - 5 i& 3.90 3. 87 3. 91 3. 87 3. 81 3.62 3. 87

1012 51%

Albumin(BCG)=3.5F A 87. 87% 86. 77% 89. 60% 86. 34% 84. 86% 68. 68% 86. 72%

Albumin(BCP) gk 6 3 7 6 - - 22

Albumin-- 3= & (BCP) 3. 46 3. 86 3. 36 3. 46 0.00 0.00 3. 46
Albumin(BCP)=3. 07 » 86. 45% 98. 31% 86.57% 88. 13% 100. 00% 100. 00% 87.92%

For: LR Rm: ko BTHRFE 410007 11T ool -
2L.FHEM: LB HRTY FRESPTHEFSELTH
3. 2P

(1) % # % =(Albumin¥ # B, fo)/Cps & sz 5.4e)

(2)T o =(f & HkT 35182 Bir/ P & ez e
(3)= 3.5 gn/dl (BCG)# =3.0 gn/dl (BCP) F A ++=[((GzF:Albumin= 3.5 gn/dl (BCG)# =3.0 gn/dl (BCP) F A v+ @¥3%iaz 4 + )2 Ae)/(# + s 810))¥100]

4 1Bl p HEE
(D% =90% -

(2)Frctetr2 F101E47 9p #F & %5 5101000702950 & % <

5. WA R 1 101.07.12

pl0lEA= &R 5 = 3.5 gn/dl (BCG)# =3.0 gm/dl (BCP) 7 A= T5%: 2R &R FE>80%




M

;A A ¥ ¥ B T % 5 L 3t
82 36 56 58 57 4 293
98. 25% 98. hh% 98.67% 98.57% 97.92% 99. 42% 98. 37%
82 34 56 56 57 4 289
4.01 3.91 3.95 3.90 3. 96 3.90 3.95
6.22 % 9.46 % 8.98 % 9.16 % 8.16 % 8.68 % 8.13 %
0 2 0 2 0 0 4
0.00 3.78 0.00 4. 14 0.00 0.00 3. 87
0.00 % 3.34 % 0.00 % 0.00 % 0.00 % 0.00 % 2.94 %
82 36 56 58 57 4 293
98. 29% 98. 44% 98. 69% 98. 46% 97.90% 98. 8% 98. 34%
82 34 56 56 57 4 289
3. 97 3.91 3. 91 3.89 3.94 3. 87 3.93
T.42 % 9.91 % 9.27 % 9.60 % 8.58 % 11.18 % 8.77 %
0 2 0 2 1 0 5
0.00 3.78 0.00 4.11 3. 86 0.00 3. 86
0.00 % 3.15 % 0.00 % 0.00 % 4.10 % 0.00 % 3.31 %
84 36 57 59 60 5} 301
98. 02% 98. 42% 98. 52% 98. 53% 97. 34% 98. 54% 98. 12%
83 34 57 57 60 ) 296
3. 97 3.91 3.97 3.90 3.94 3. 86 3. 94
7.50% 9. 18% 8. 81% 8. 93% 8. 7% 12. 44% 8. 56%
1 2 - 2 - - 5
3. 38 3.74 0.00 4.10 0.00 0.00 3. 81
40. 00% 3. 19% 0.00% 0.00% 0.00% 0.00% 3.59%
84 37 o7 29 61 5} 303
98.17% 98. 50% 98. 36% 98. 51% 98. 19% 98. 55% 98. 32%
83 35 57 o7 61 5 298
3. 95 3.93 3.93 3. 88 3.91 3. 86 3.92
T.78% 9.79% 9.51% 9.91% 9. 40% 12. 35% 9.17%
1 2 0 2 0 0 6
3.73 3.8 0 4. 04 0 0 3.85
0 0. 0311 0 0. 0251 0 0 0.0287
83 35 58 60 60 6 302
98. 26% 98. 45% 98. 19% 98. 59% 97. 95% 97. 78% 98. 26%
82 33 58 57 59 6 295
3.96 3.91 3. 90 3. 88 3.93 3.85 3.92
7.60% 9.01% 10. 33% 9. 62% 8. 60% 14. 49% 8.97%
1 2 - 3 1 - 7
3.62 3.63 0.00 3. 89 3.82 0.00 3.76
7.70% 5. 44% 0.00% 2. 56% 0.00% 0.00% 3. 40%
83 35 58 60 60 6 302
98. 29% 98. 52% 98. 66% 98. 48% 98. 36% 97. 46% 98. 42%
82 33 58 58 60 6 297
4.01 3.93 4.00 3. 89 3.93 3. 87 3.95
6. 56% 9. 41% 7. 30% 9. 65% 8. 68% 10. 70% 8. 16%
1 2 - 2 - - 5
3.28 3.7 0 4.03 0 0 3.72
26. 10% 6. 23% 0.00% 0.00% 0.00% 0. 00% 7. 44%
85 38 58 60 61 6 308
98. 19% 98. 4% 98. 43% 98. 53% 97. 96% 98. 08% 98. 28%
84 36 58 58 61 6 303
3. 97 3.92 3. 95 3. 89 3.92 3. 86 3.93
7. 34% 9.21% 8. 99% 9. 54% 8. 88% 12. 54% 8. 70%
1 2 - 2 - - 5}
3.44 3. 72 0 4.05 0 0 3.77
19. 16% 4.51% 0.00% 1.33% 0.00% 0.00% 4. 80%
82 35 59 60 61 8 305
98. 41% 98. 50% 98. 55% 98. 68% 98. 16% 98. 70% 98. 45%
82 33 59 58 61 8 301
3.98 3.91 3.95 3.91 3.91 3. 82 3.93
92.47% 90. 23% 91. 24% 90. 89% 91.07% 83. 99% 91. 21%
- 2 - 2 - - 1
0.00 3. 69 0.00 4.02 0.00 0.00 3.76
100. 00% 97. 58% 100. 00% 100. 00% 100. 00% 100. 00% 98. 10%




F R PRAR S F A AR-n R 54T F 9 3 (Albumin)( S TR F F € & 5)

RS ST RIS ¥
P Ry w &3
& e 5 oAt A P E 2 W B A i T A3t
EXES S 148 77 114 95 103 15 552
Albumin-= # % 97.93% 98. 31% 98. 02% 98. 55% 98. 13% 97. 88% 98. 15%
Albumin(BCG) Fdic 140 2 103 87 103 13 518
00 5 4% Albumin(BCG)-L 32 1& 3. 95 3.90 3.94 3.89 3. 90 3.90 3.92
Albumin(BCG)<3.5F 4 +* 10. 58% 11.81% 10. 15% 10.77% 11.22% 10. 24% 10. 85%
Albumin(BCP) Jik 8 5 11 8 0 2 34
Albumin--T =& (BCP) 3. 65 3.76 3. 38 3.33 0.00 3. 35 3.49
Albumin(BCP)<3. 0F 4 +* 9.77 % 3.65 % 11.94 % 20.48 % 0.00 % 9.69 % 11.16 %
[ERLS S 148 7 114 95 103 15 552
Albumin-% # 97. 8% 98. 24% 98. 55% 98. 58% 98. 02% 97.70% 98. 20%
Albumin(BCG) #Jdic 141 12 103 89 103 14 522
99 /] 2+ Albumin(BCG)-L 35 3.92 3. 88 3.91 3. 88 3. 89 3. 86 3.90
' Albumin(BCG)<3.5F 4 +* 11. 26% 12.53% 10. 81% 11.37% 11.19% 13. 33% 11.42%
Albumin(BCP) 7k 11 5) 11 9 1 2 39
Albumin--T 27 (BCP) 3. 66 3.76 3. 35 3.26 3. 86 3.34 3. 48
Albumin(BCP)<3. 0 4 +* 7.70 % 3.79 % 13.69 % 21.78 % 4.10 % 11.66 % 12.26 %
[ERLS 3 152 7 114 96 107 16 562
Albumin-% # % 97.79% 98. 30% 98. 41% 98. 43% 97. 48% 97. 32% 98. 02%
Albumin(BCG) Fdic 142 12 104 89 107 14 528
100& 5 1% Albumin(BCG)-T 32 1& 3.94 3. 89 3.93 3. 88 3. 88 3. 87 3.91
Albumin(BCG)<3.5F 4 + 10. 36% 12. 49% 10. 90% 11.18% 11.58% 13.11% 11.23%
Albumin(BCP) 7k 10 5 10 7 0 2 34
Albumin--T 27 (BCP) 3.95 3.73 3. 35 3. 56 - 3.31 3.48
Albumin(BCP)<3.0F 4~ +* 10. 78% 4. 58% 13. 71% 13. 22% 0. 00% 12. 18% 11. 32%
P 7 i 152 8 113 97 108 16 564
Albumin-% # 97. 65% 98. 23% 98. 33% 98. 47% 97. 94% 97. 84% 98. 06%
Albumin(BCG) 3k 142 73 103 89 108 14 529
100 5 2% Albumin(BCG)-L 35 3.92 3. 88 3.92 3. 87 3. 88 3.84 3.90
Albumin(BCG)<3.5F 4 +* 10. 72% 12.77% 10. 88% 11. 32% 11.22% 13. 60% 11. 32%
Albumin(BCP) Fdic 10 ) 10 8 - 2 35
Albumin--T 27 (BCP) 3.54 3.79 3.34 3. 38 0.00 3. 33 3. 47
Albumin(BCP)<3. 0 4 +* 10. 28% 3. 65% 12. 95% 20.47% 0.00% 13. 12% 11.90%
[ERES S 153 7 114 98 107 17 566
Albumin-% # 97. 89% 98. 65% 98. 43% 98. 68% 97.97% 98. 26% 98. 26%
Albumin(BCG) i 142 2 104 89 106 15 528
100 5 3% Albumin(BCG) L =& 3.92 3. 88 3. 90 3. 86 3. 88 3.83 3. 89
Albumin(BCG)<3.5F 4~ +* 10. 56% 11.82% 11.65% 11.77% 11.29% 16. 33% 11.43%
Albumin(BCP) #Ji 11 5 10 9 1 2 38
Albumin--* 32 & (BCP) 3. 62 3. 67 3.35 3. 41 3. 82 3.29 3.49
Albumin(BCP)<3.0F 4 +* 7. 25% 5. 19% 11.99% 19. 68% 0.00% 13. 86% 10. 61%
P o e 152 7 113 98 107 15 562
Albumin-= # % 97. 82% 98. 53% 98. 45% 98. 54% 98. 24% 98. 12% 98. 26%
Albumin(BCG) Fdic 142 2 104 89 106 13 526
100& 4% Albumin(BCG)-T 32 1& 3. 97 3. 89 3. 97 3. 88 3. 89 3. 88 3.92
Albumin(BCG)<3.5F 4 + 9. 26% 11.95% 8. 63% 11.21% 10. 98% 12.12% 10. 30%
Albumin(BCP) Ji 10 5 9 9 1 2 36
Albumin-- 352 i& (BCP) 3.54 3.73 3. 39 3. 40 3. 97 3.34 3.51
Albumin(BCP)<3.0F 4~ +* 10. 70% 4.61% 11.06% 17. 04% 1.30% 16. 47% 10. 86%
[ERLS /3 155 80 115 98 108 17 573
Albumin-= # % 97.77% 98. 43% 98. 41% 98. 53% 97. 92% 97. 88% 98. 15%
Albumin(BCG) 3k 145 5 105 91 108 15 539
1004 - 2+ Album@n(BCG)i‘ B 3.94 3. 89 3.93 3. 87 3. 88 3. 85 3.90
Albumin(BCG)<3.5F 4 + 10. 18% 12. 15% 10. 48% 11.87% 11.22% 14. 14% 11.13%
Albumin(BCP) 7k 10 ) 10 9 1 2 37
Albumin--T 27 (BCP) 3.54 3.73 3. 36 3.42 3. 97 3. 32 3. 56
Albumin(BCP)<3. 0§ 4 +* 10, 12% 4, 51% 12, 39% 15. 08% 1. 30% 13.91% 9. 69%
P o7 i 150 7 116 98 108 17 566
Albumin-% # 97. 80% 98. 58% 98. 56% 98. 63% 98. 11% 97. 74% 98. 26%
Albumin(BCG) 3k 140 71 107 89 108 16 531
101& 51% Albumin(BCG)-L =& 3.93 3. 86 3.92 3. 90 3. 87 3. 81 3.90
Albumin(BCG) =3.5F » 89. 2% 87.17% 88. 9% 89. 0% 88. 65% 80. 85% 88. 56%
Albumin(BCP) Fdic 10 6 9 9 0 1 35
Albumin--* 3= & (BCP) 3. 07 3.69 3. 36 3. 40 - 3. 32 3.48
Albumin(BCP)=3.0F » 87. 96% 96. 04% 86. 56% 84. 73% 100. 00% 89. 60% 88. 16%
B LFA KR & S ATHRFS 10107, 11 F 4 &gl -
2FMBEF: P BB FRESPTHRFF TR -
3. o FIp

(1% # Z=(Albuninft + 8 f0)/ Cps & 2 6.7e)
(2)% 3o =(1f + gk T 31 ) 2 Wfe/ B~ ez e

(3= 3.5 gn/dl (BCG)# =3.0 gm/dl (BCP) 7 4 +*=[((3%FxAlbumin= 3.5 gm/dl (BCG)& =3.0 gm/dl (BCP) 7 4 " EX%Fez A 8o)2 Bfr)/($% & B2 340))*100]
4. P HRE

(D45 =90% -

(2)f7rcretr2 ¥101£47 9p ¥ i %3 510100070298 3+ 2> p 101 #4= &4 5 = 3.5 gn/dl (BCG)# =3.0 gn/dl (BCP) 7 A= T5%;: 2 W& FHE>80% -
5. WA R 1 101.07.12






PRS2 SR EFRRBE T v 254 KUV(SRTHRFT ERE)

£ % A B %5% LA
b e 5 o i F P E 2 F 3 A i % 7

[ENL S 8 2 3 2 3 1 19

99% 1% Kt/V-% #& & 94. 04% 96. 31% 96. 20% 99. 77% 99. 11% 100. 00% 96. 61%
Kt/V-T =25 1.72 1.93 1. 64 1.61 1. 64 1.52 1.69

Kt/V< 1.2F 4~ v 2. 90% 1. 70% 3. 80% 1. 10% 3. 20% 8. 40% 3. 10%
EXEE S 8 2 3 2 3 1 19

99 £9% Kt/V-% # 95.67% 96. 59% 94. 51% 97. 35% 97. 82% 97.50% 96. 32%
Kt/V-T 358 1.73 1.95 1.65 1.58 1. 62 1.53 1.69

Kt/V< 1.2F %~ v 2. 80% 2.50% 5. 90% 0. 20% 2. 30% 8. 30% 3. 10%
EXLE 3 8 2 3 2 3 1 19

99 5 3% Kt/V-% # % 94. 53% 95. 01% 96. 47% 98. 90% 97. 95% 98. 74% 96. 27%
Kt/V-T =& 1.71 1.96 1. 65 1. 60 1.65 1.55 1.69

Kt/V< 1.2F #~ v 3. 00% 1.70% 3. 90% 0. 70% 2.60% 3. 20% 2. 70%

XL 4 8 2 3 2 3 1 19

99 5 4% Kt/V-% # % 96. 05% 97. 00% 96. 94% 97. 86% 99. 08% 97. 62% 97. 26%

Kt/V-T3=E 1.71 1.87 1.64 1.62 1.64 1. 60 1.68

Kt/V< 1.2F #~ v 2. 60% 1. 00% 3. 50% 2. 80% 3. 10% 4. 30% 2. 80%

EXLE S 8 2 3 2 3 1 19

99 | 2> Kt/V-= #& & 94. '76% 96. 28% 95. 95% 98. 46% 98. 42% 98. 45% 96. 47%

! Kt/V-T =& 1.72 1.93 1. 64 1. 60 1. 64 1.55 1.69

Kt/V< 1.2 ~ 2. 80% 1. 80% 4. 30% 1. 20% 2. 80% 6. 00% 2. 90%
ot i 9 2 3 2 3 1 20

1002 5 1% Kt/V-% #& & 93. 78% 96. 79% 95. 12% 97. 32% 97. 73% 98. 34% 95.61%
Kt/V-T =& 1.69 1. 87 1.63 1. 60 1.62 1.51 1.67

Kt/V< 1.2F 4~ v 3. 50% 1. 70% 3. 50% 2. 80% 2. 80% 5. 60% 3. 20%
P 7 i 9 2 3 2 3 1 20

100 5 2% Kt/V-% #& & 94. 2% 95. 99% 95. 7% 97. 53% 97.00% 98.91% 95. 89%
Kt/V-T =& 1.68 1.88 1. 66 1.59 1.63 1.55 1.67

Kt/V< 1.2F 4~ v 3. 30% 2. 30% 3. 80% 2. 50% 2.50% 4. 40% 3. 10%
P 7 i 10 2 3 2 3 1 21

100 5 3% Kt/V-% #& & 95. 80% 96. 92% 95. 16% 98. 03% 98. 18% 98. 35% 96. 62%
Kt/V-T =& 1.69 1.88 1.67 1.59 1.64 1.54 1.68

Kt/V< 1.2F 4~ v 2. 60% 1. 50% 3. 40% 1. 30% 2. 30% 6. 70% 2. 60%
P 7 10 2 3 2 3 | 21

1002 5 4% Kt/V-% #& & 95. 44% 96. 50% 95. 09% 92. 55% 97. 50% 95. 65% 95. 72%
Kt/V-T =25 1.69 1.89 1. 64 1.58 1. 62 1.54 1.67

Kt/V< 1,27 ~ 2. 90% 0. 90% 4.10% 3. 40% 4. 20% 4. 50% 3. 30%
P 7 10 2 3 2 3 | 21

1004 - 2+ Kt/V-% #& & 95.01% 96. 56% 95. 28% 96. 2% 97. 59% 98. 08% 95. 99%
’ Kt/V-T =25 1.69 1.88 1.65 1.59 1.63 1.53 1.67

Kt/V< 1.2F 4~ v 3. 00% 1. 60% 3. 70% 2. 60% 2. 90% 5. 30% 3. 00%
P 7 i 10 2 3 2 3 1 21

101 %1% Kt/V-= #& & 95. 59% 97. 33% 97. 45% 96. 86% 97. 56% 99. 45% 96. 72%
Kt/V-T =& 1.66 1.92 1. 64 1.58 1.63 1.59 1.66

Kt/V= 1.2F 4+ 96. 40% 97. 30% 96. 40% 95. 70% 98. 10% 96. 70% 96. 80%

a4

(2)F 32iE =k & XL 32E )2 Wir/$k & #

TR kR i S TRFE 101,07, 11 F R4 war o
0 AP ERTY FRECETHEREE TR

(1% # % =(Kt/vit A et fe)/ G & S lie2 590)

2 e

(3)<1. 27 A v =[ ((EIKt/V<L. 27 A ¥z ke 8 » )2 4 fe)/ (% 4 Bz 5,90))%100]

(D=1.2F A =[(GrKt/V=1. 27 A wXaiaz #4802 Bie)/(f ~ &

4. FiEiEp @
(D= & 5 =90%
(2)Frcteird F101#4 9p FF i ®F 1010007029534 2> p 101 &4 b4 5 = 1.2 F =95% 5 2 W& .5 >80% -

5. WA pFR 1 101.07.12
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¥ b
;7”‘ % P % r%?v F—S& a\?v 3
19 11 15 12 10 5 12
94. 48% 97.97% 98. 12% 98. 31% 95. 70% 97. 68% 96. 72%
1. 66 1. 69 1.72 1.68 1.770 1.70 1. 69
5. 30% 4. 60% 3. 30% 2. 40% 4.10% 3. 90% 4.00%
19 11 15 12 10 5 12
95. 3% 97. 65% 98. 35% 97.67% 96. 21% 95. 11% 96. 85%
1. 68 1.71 1.72 1. 66 1. 69 1. 67 1. 69
3. 80% 4.50% 2.60% 3. 00% 3. 90% 3. 70% 3. 60%
19 11 15 12 10 5 72
94. 31% 97. 24% 98. 00% 97. 69% 96. 74% 96. 12% 96. 56%
1. 68 2.02 1.72 1. 68 1.70 1.70 1.75
4. 10% 3. 40% 2.90% 3. 40% 3. 50% 4. 30% 3. 90%
19 11 15 12 10 5 12
95. 27% 97. 89% 97. 40% 97. 49% 96. 37% 95. 58% 96. 70%
1.70 1.73 1.70 1. 67 1. 68 1. 66 1.70
4. 30% 3. 90% 3. 10% 2.90% 3. 80% 6. 10% 3. 70%
19 11 15 12 10 5 12
94. 83% 97.67% 97. 95% 97. 80% 96. 23% 96. 26% 96. 70%
1. 68 1.71 1.71 1.67 1. 69 1. 68 1. 69
4. 30% 4. 00% 2. 90% 2. 90% 3. 80% 4. 30% 3. 70%
18 11 15 12 10 5 71
94. 28% 97. 13% 97.13% 97. 52% 94. 95% 96. 62% 96. 12%
1.72 1. 68 1. 67 1. 67 1.71 1. 67 1. 69
4. 40% 5. 00% 3. 80% 3. 10% 4. 00% 5. 00% 4.10%
18 11 15 12 10 5 71
95. 1% 97. 26% 98. 25% 97. 09% 96. 01% 97. 16% 96. 69%
1.72 1.72 1. 71 1. 66 1. 68 1. 66 1.70
4.50% 3. 40% 3.10% 2. 90% 4. 60% 5. 60% 3. 80%
18 11 15 12 10 5 71
95. 59% 98. 05% 98. 00% 98. 24% 95. 56% 96. 99% 97.01%
1.69 1.72 1. 71 1. 66 1.70 1. 67 1.70
4.50% 3. 50% 2. 90% 3. 30% 4. 00% 5. 10% 3. 70%
17 11 15 12 10 4 69
95. 39% 96. 7% 97. 94% 98. 01% 96. 30% 97. 68% 96. 84%
1.770 1.73 1.70 1. 65 1. 68 1.64 1. 69
5. 00% 2. 30% 3. 20% 2.60% 4. 00% 6. 50% 3. 60%
18 11 15 12 10 ) 71
95. 08% 97. 32% 97. 76% 97. 73% 95. 69% 96. 54% 96. 63%
1.71 1.71 1.70 1. 66 1. 69 1. 65 1. 69
4. 60% 3. 60% 3. 30% 2. 90% 4. 20% 5. 60% 3. 80%
17 11 15 12 10 4 69
94. 94% 97. 7% 97. 84% 98. 13% 96. 51% 98. 31% 96. 96%
1.72 1.70 1.72 1.64 1. 67 1.61 1. 69
95. 70% 96. 90% 96. 40% 95. 90% 96. 20% 95. 70% 96. 20%
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Tp s i 54T

£ 3% R B w
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99 %1% Kt/V- 4 = 29 i 2 T > fvf 5
Kt/V-T o 97. 32% 96 1;0/ 39 El - —
Kt/V< 1.2 A 1.78 1' ’ 97. 35% 2l 33 - |3+
e i 2. 50" M I 7. 84% °
/ % 4002 . 66 95. 82% 164
Kt/V-T i@ 97. 05% ] 21 39 2. 90% 5. 10% 162 12
Kt/V< 1.2F & v 1.78 - 43 97.71% 2l 3‘; 0. 80% :13 0
e 7 3 2. 80% 1.75 | 68 98. 00% 95. 98% o 0%
99# % 3% Kt/V-% # & 39 2 10 2. 50% L. 70 ) 6(; 96. 79% 96164
KE/V< 1,25 4 0t 178 6. 20% 97. 36% 23 3§ 3. 60% LTl
e 9 60Y% 1.77 169 98. 41% 94 76% 5 3. 30%
09s w4z |K/VERE m 3. 40% 5 91 1. 63 65 I T0% e
Kt/V-L 320 97 04% 28 . 20% 2. 20% - 65 1.63 96. 53%
Kt/V< 1.2F & 1.7 95.93% 40 9 5. 60% 3609 1.72
, e 4 3. 00% 16 1. 66 97. 86% ; 5 3. 20%
N m 3. 80% 3 1o 1.70 5. 5% 9. 61% 168
Kt/V-T o 97. 02% 9 28 ' 4(;) 3. 10% 51'05? ] 620 96. 32%
Kt/V< 1,25 4 1 177 6. 03% 07 08y 23 - 00 3. 50% 1.71
/ B i 9 70% 1.76 1 670 97. 96% 05 3? 5 3. 60%
100 515 |[FUVERS 41 % 0 2. 70" 1.69 o 95. 18% 168
Kt/V-T 3a@ 97. 05 28 (0% 2. 704 1. 65 X 96. 63°
: & L 05% 96, 190 39 . 104 5. 00" 162 K
:C/V< 19F 4wt 175 . 12% 97 04% 923 . 00% 4.10% 1.71
0 5 ERES S 3.00% 31 H 1 6’; 96. 88% 90 32:1 5 3. 40%
NP A m . 00% 3 104 1.68 A 94, 21% 170
Kt/V-L3aE 97. 06% 9 28 3§ 2. 70% 5 Gg(? 1.61 95. 60%
K}/V< 1.2F & 1.75 5. TTh 97.00% 2 | 3/0 > h
/ o > 0% 1.75 63 97. 72% 05 4 : 3. 50%
100 535 [KU/V-ZHEF 42 3. 30% 3 20% .68 ] 8% 96. 74% 170
K:C/V< 1.2F A 1.75 6. 4T 98. 09% 24 . 34/0 4. 30% L1l
/ Bt i 5 0% 1.74 1 68 ’ 97. 78% 06, 720 : 3. 30%
100 54z [FUVEES 12 Sl 2. 60% 169 L6 96. 60% e
Kt/V-% o8 97 26% 29 = 3. 20% . 360 L 59 97. 05%
Kt/V< 1.2F A 1.74 97. 23% 97 46Y% 24 .391/0 1. 30 a0
00k ot kv S BT 19 3. 00% > 80 1. 66 s 97. T1% 170
7 Kt/V-2 3o 96. 99Y% o6 29 39 3. 20% 5 00% 1.57 97. 34%
. 37% 24 200 1.70
Kt/V< 1.2 & » L 175 el 07, 47h 34 S 3. 301
~ g * 6 ' ! . -
/ e 2.90% 3 00% ! 1. 67 9(15' éi% 96. 31% 173
01z51s  [f/V-ERs 41 - 908 3. 00% | 160 it
Kt/V-< 3o 96. 94% o 29 - ’ 4. 90% = 10 1.70
0, . 0
Kt/V= 1.2F &+ 1.73 L 32/" 97.27% “ 34 3. 30%
97. 00% -1 1 97. 13% 4
6 97 207 .65 1 96. 19% 17
- 20% 96. 60% .65 L 63 91.72% 1
96. 90% o1 30 1. 61 96. 70%
Rl 96. 50% 169
96. 50%
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KUV THF S ¢ £ )

o
o A % ¢ 7 W B B T |3t
80 35 56 57 55 5 288
97. 55% 96. 51% 98. 09% 97. 68% 96. 72% 95. 18% 97. 36%
1.75 1.72 1.70 1.65 1.66 1.71 1.70
2. 20% 3. 10% 3. 20% 3. 30% 3. 80% 2. 40% 3. 10%
81 34 56 57 56 5} 289
97.81% 96. 69% 98. 40% 97.61% 97. 15% 97. 22% 97.61%
1.77 1.73 1.71 1.68 1.68 1.67 1.71
2. 10% 2. 40% 3. 00% 2. 40% 2. 80% 2. 90% 2. 50%
82 36 56 58 57 4 293
97. 32% 96. 81% 98. 28% 97. 52% 96. 73% 96. 88% 97. 35%
L.77 1.73 1.71 1.69 1.68 1.66 1.72
1. 80% 2.30% 2.60% 2.20% 3. 20% 2. 30% 2. 40%
82 36 56 58 57 4 293
96. 25% 96. 95% 98. 28% 97.81% 97.03% 98. 27% 97.21%
1.74 1.70 1.68 1.68 1. 67 1.63 1.70
2.10% 3. 00% 2. 90% 2. 950% 3. 50% 3. 20% 2. 70%
82 36 56 58 57 4 293
97.29% 96. 49% 98. 2% 97. 73% 96. 91% 96. 76% 97. 38%
1.75 1.72 1.69 1. 67 1. 67 1. 66 1.70
2.00% 2.70% 2. 90% 2. 60% 3. 30% 2.90% 2.70%
84 36 57 59 60 5 301
97. 13% 96. 91% 97. 94% 97. 60% 96. 2% 97. 96% 97. 17%
1.74 1.72 1.70 1.66 1.66 1.60 1.69
2. 60% 3. 30% 2. 80% 2. 70% 3. 40% 3. 30% 2. 90%
84 37 57 59 61 5 303
97. 38% 96. 67% 97.78% 97. 59% 97.37% 97. 39% 97. 42%
1.75 1.71 1.70 1.67 1.67 1.62 1.70
2. 70% 2. 90% 2. 30% 3. 10% 2. 70% 3. 60% 2. 80%
83 35 58 60 60 6 302
97. 59% 96. 71% 97. 83% 97.60% 96. 89% 96. 67% 97. 37%
1.75 1.71 1.71 1.68 1.68 1.61 1.71
2. 60% 2. 80% 2. 20% 2. 80% 2. 80% 4. 60% 2. 70%
83 35 58 60 60 6 302
97.73% 97. 30% 98. 34% 97.81% 97.75% 96. 90% 97. 80%
1.74 1.71 1.69 1.69 1.67 1.67 1.70
2. 50% 3. 10% 2. 80% 1. 80% 3. 00% 3. 20% 2. 60%
85 38 58 60 61 6 308
97. 49% 96. 80% 98. 01% 97. 68% 97.01% 97. 10% 97. 43%
1.74 1.71 1.69 1.67 1. 67 1. 61 1.70
2.60% 3. 10% 2.50% 2.50% 3. 00% 3. 80% 2.70%
82 35 59 60 61 8 305
98. 06% 97. 21% 98. 26% 97. 74% 97.07% 97. 58% 97. 71%
1.74 1.70 1. 67 1. 66 1.67 1.54 1. 68
97.70% 96. 90% 97. 30% 97. 30% 96. 90% 91. 60% 97. 20%




PRS2 BHTREE FFRRBE -2 R E4 KUV B THFS /15
) o ks % 3 ¥ il A % 3

ERAS S 146 75 113 92 101 16 543

99 5 1% Kt/V-% & 96. 41% 96. 72% 97.71% 97. 95% 96. 62% 95. 50% 96. 98%
Kt/V-F32E 1.74 1.75 1.69 1.66 1.66 1. 65 1.70

Kt/V-<1.2F & 3. 00% 3. 70% 3. 10% 2. 90% 4.10% 4. 60% 3. 40%
ERRE 'S 147 74 113 92 102 16 544

99 595 Kt/V-= 4& & 96. 86% 96. 45% 97. 85% 97. 68% 96. 78% 96. 52% 97. 11%
Kt/V-T =i 1.775 1.775 1.70 1. 68 1. 67 1. 64 1.71

Kt/V-<1.2F » 2. 70% 3. 60% 3. 00% 2. 50% 3. 30% 4.00% 3. 00%
ERE S 148 6 114 h 103 15 551

99 %3% Kt/V—‘i:" %ﬁ 3: 96. 18% 96. H&% 97.78% 97 78% 96. 42% 96. 17% 96. 86%
Kt/V-T 3z 1.75 1.83 1.70 1. 68 1. 67 1. 65 1.72

Kt/V=<1.2% %~ " 2. 60% 2. 90% 2. 60% 2. 40% 3. 70% 3. 40% 2. 90%

EXEE S 148 T 114 95 103 15 hh2

99 5 4% Kt/V—i %ﬁi 96. 20% 96. 81% 97. 18% 97.75% 96. 80% 96. 89% 96. 88%

Kt/V-T 3= 1.74 1.74 1. 68 1. 68 1. 67 1. 63 1.70

Kt/V-<1.27F %~ +* 2. 80% 3. 40% 3. 10% 2. 170% 3. 80% 4 _20% 3. 20%
EXAE S 148. 00 77.00 114. 00 95.00 103. 00 15. 00 552.00
99.& -] 2+ Kt/V-=4& = 0.96 0.97 0.98 0.98 0.97 0.96 0.97
' Kt/V-TF =i 1. 74 1.74 1.69 1. 67 1.66 1. 64 1.70
Kt/V-<1.275 %+ 0.03 0.03 0.03 0.03 0.04 0.04 0.03
EES 'S 152 7 114 96 107 16 562

1002 %1% Kt/V-= 4& & 96. 10% 96. 67% 97. 2% 97. 44% 94. 89% 96. 36% 96. 39%
Kt/V-TF =i 1.73 1.73 1.68 1.66 1.66 1. 61 1.69

Kt/V<1.2F &+ 3. 10% 3. 50% 3. 10% 2. 80% 3. 90% 4.90% 3. 30%
EXAE S 152 78 113 97 108 16 564

100 5 2% Kt/V-% & = 96. 51% 96. 45% 97. 4% 97. 50% 96. 78% 97. 31% 96. 92%
Kt/V-T =i 1.73 1.74 1.70 1. 67 1. 66 1.62 1.70

Kt/V<1.2F &+ 3. 10% 3. 10% 2. 90% 3. 00% 3. 30% 4.40% 3. 10%
EXAE S 153 7 114 98 107 17 566

100 5 3% Kt/V-= & = 96. 71% 96. 97% 97. 73% 97. 80% 96. 76% 96. 95% 97. 14%
Kt/V-F =i 1.73 1.74 1.70 1. 67 1.68 1. 61 1.70

Kt/V<1.2F &+ 3. 00% 3. 00% 2. 60% 2. 90% 3. 40% 5. 90% 3. 00%
EEE S 152 7 113 98 107 15 562

100 5 4% Kt/V-% & 96. 87% 97. 10% 97. 72% 97.61% 97. 30% 97. 18% 97. 28%
Kt/V-T 2 1.73 1.74 1.68 1. 67 1. 66 1.61 1.70

Kt/V<1.27F ~+* 3. 00% 2. 70% 3. 00% 2. 30% 3. 80% 4. 50% 3. 00%
EXEE S 195 80 115 98 108 17 573

1004 -] 2+ Kt/V-% & 96. 58% 96. 76% 97. 54% 97.59% 96. 66% 96. 81% 96. 98%
Kt/V-T =i 1.73 1.73 1.68 1. 66 1. 66 1.61 1.69

Kt/V< 1.2 & v 3. 10% 3. 10% 2. 90% 2. 70% 3. 60% 5. 00% 3. 10%
EXAE S 150 7 116 98 108 17 566

101 5 1% Kt/V-= & = 96. 88% 97.10% 97. 80% 97.67% 96. 83% 96. 61% 97. 21%
Kt/V-F =i 1.72 1.73 1. 67 1.65 1.65 1.58 1.68

Kt/V= 1.2F &+ 97. 00% 97. 00% 96. 80% 96. 80% 96. 40% 94. 40% 96. 80%

(1) # % =(Kt/vit » i fo)/ O b e 5 fe)
(2)T i =(H A BKT 551E) 2 e/~ B2 B fe
(3)<1. 2F & v+ =[ ((HFRKt/V<L. 2F A vt B¥3% 12 $ 4 B0 2 5 Ae)/( 4 ez 847))¥100]
(A)=1.2F 1w =[((ZRK/VZ 1. 2F A 0t E¥ k2 5+ 802 2e)/ (1 + 2 840))%100]
A fHEMD EE
(1) % # % =90%

(2)fFrctetrs F101#47 9p ¥ &5 5101000702955 3+ 2>

b, @ & pERF £ 101.07.12

pl0lEA=E R G = 1.2 $=95% 2RERFE>80% -







1S3 SRS EFRIRIS [ ool RS 1 H(H B TR 6 H)

sz f 5% FEY
A % o A% F 3 F 3 5 % W 3
ERLE S 8 2 3 2 3 1 19
0o g1z |Ho-EHE 97.50% 98.36% 98.81% 99.77% 99.19% 100.00% 98.51%
Het- 3218 31.18 32.53 31.94 29.52 32.46 30.55 31.61
Het <24 A1t 3.00% 1.70% 3.80% 7.30% 3.10% 0.00% 3.30%
ERLE S 8 2 3 2 3 1 19
g9 5oz  |HorE H#F 98.34% 98.00% 98.36% 97.57% 98.27% 99.38% 98.26%
Het- 3218 31.19 31.87 31.65 29.90 33.04 30.56 31.68
Hct <247 A v 2.80% 1.40% 3.80% 7.70% 1.80% 0.00% 2.90%
ERLE S 8 2 3 2 3 1 19
g9 y3z  |HCUEHE 97.42% 98.80% 98.71% 99.12% 98.86% 99.37% 98.34%
Het-T 218 31.07 32.17 32.01 29.53 32.68 31.24 31.61
Het < 24 A 1+ 3.40% 2.40% 4.80% 7.50% 2.90% 0.00% 3.70%
ERLE S 8 2 3 2 3 1 19
g0k paz  |HoCEHE 98.37% 98.40% 98.82% 97.86% 99.16% 98.81% 98.61%
Het- 3218 31.07 32.30 31.93 29.65 32.09 30.85 31.46
Het <24 A1t 3.50% 1.60% 6.20% 7.90% 3.20% 0.60% 4.00%
ERLE S 8 2 3 2 3 1 19
ggie o |HoXteF 97.63% 98.39% 98.65% 98.57% 98.79% 99.07% 98.29%
Het- 3218 41.00 28.00 39.00 23.00 34.00 5.00 170.00
Hct <247 A v 3.20% 1.90% 4.60% 7.60% 2.80% 0.00% 3.50%
ERLE S 9 2 3 2 3 1 20
100% 515 |HotZ# 97.71% 98.40% 97.68% 97.77% 98.56% 98.90% 98.01%
Het- 518 31.60 32.01 32.03 31.21 32.22 31.02 31.80
Het <26 A 1t 6.70% 4.10% 7.10% 8.70% 5.60% 1.10% 6.20%
ERLE S 9 2 3 2 3 1 20
100& 25  |HetXted 96.41% 97.60% 98.00% 97.53% 98.20% 99.45% 97.37%
Het-T 3218 31.67 31.91 32.11 32.29 32.36 30.82 31.94
Het <26 A 1t 6.60% 5.10% 5.30% 6.90% 5.00% 4.90% 5.90%
ERLE S 10 2 3 2 3 1 21
l00% 53 |HotX 97.53% 98.97% 97.35% 98.03% 98.79% 98.90% 98.01%
Het- 518 31.78 32.23 31.62 29.95 32.49 31.17 31.79
Het <267 4t 6.20% 5.00% 8.90% 7.60% 6.00% 5.60% 6.50%
ERLE S 10 2 3 2 3 1 21
100% 4% |Hot= 3 97.03% 98.56% 97.43% 96.60% 98.94% 96.74% 97.62%
Het- 3218 31.48 32.00 31.65 29.90 3235 31.20 31.62
Het <267 4t 6.00% 4.60% 6.80% 8.10% 5.80% 3.40% 6.00%
ERLE S 10 2 3 2 3 1 21
l00% o |Hett s 97.20% 98.28% 97.64% 97.48% 98.60% 98.63% 97.76%
Het-T 3218 31.61 32.02 31.82 30.77 32.34 31.01 31.76
Het <267 4t 6.40% 4.70% 7.10% 7.80% 5.60% 3.60% 6.20%
B 10 2 3 2 3 1 21
olexie |Howttes 97.22% 98.56% 98.89% 98.54% 99.01% 100.00% 98.21%
Het-T 218 31.46 32.13 31.55 30.61 32.20 30.79 31.61
Het 2267 4 1* 93.00% 95.20% 94.90% 91.90% 93.40% 94.50% 93.50%
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()Z26%F A 1+ <[(AFHIZ 26T & 1 512§ 402 SF)/(F  He 44)*100]
AfmILe RE
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() Felirs % 101545 9p 0% i %3 5 101000702955 & +: % -
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6.8 4 PR 1 101.07.12
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BEF

;:' i % ks s r—g Ef— k= ;‘L
19 11 15 12 10 5 72
97.68% 98.99% 99.26% 99.11% 98.27% 98.84% 98.58%
31.79 31.47 31.40 31.62 31.57 30.92 31.57
3.10% 2.90% 2.60% 2.90% 2.20% 2.90% 2.80%
19 11 15 12 10 5 72
97.61% 98.65% 99.32% 98.74% 98.25% 96.20% 98.36%
31.87 31.53 31.84 31.64 31.63 31.26 31.70
3.10% 3.20% 2.30% 3.50% 2.50% 2.30% 2.90%
19 11 15 12 10 5 72
97.40% 98.29% 98.83% 98.57% 98.25% 97.78% 98.18%
32.03 31.45 31.59 31.83 31.70 31.17 31.73
3.10% 3.60% 2.80% 3.60% 2.10% 4.50% 3.10%
19 11 15 12 10 5 72
97.43% 98.85% 98.70% 98.54% 98.07% 97.24% 98.20%
31.96 31.42 31.60 31.80 31.64 31.40 31.70
3.40% 4.40% 3.20% 3.30% 2.40% 3.10% 3.30%
19 11 15 12 10 5 72
97.53% 98.77% 99.01% 98.73% 98.20% 97.36% 98.33%
84.00 36.00 57.00 59.00 60.00 5.00 301.00
3.20% 3.50% 2.70% 3.40% 2.40% 3.10% 3.00%
18 11 15 12 10 5 71
97.36% 98.59% 98.75% 98.35% 97.33% 98.03% 98.04%
31.33 31.29 31.41 31.57 31.76 31.30 31.46
8.00% 8.70% 7.20% 8.00% 5.70% 5.20% 7.50%
18 11 15 12 10 5 71
97.39% 98.70% 98.98% 98.54% 97.79% 97.16% 98.20%
31.46 31.57 31.48 31.70 31.52 31.09 31.53
8.30% 7.20% 6.90% 6.10% 6.30% 5.80% 7.00%
18 11 15 12 10 5 71
97.74% 99.19% 99.16% 99.14% 97.15% 97.81% 98.43%
31.64 31.64 31.70 32.04 31.62 31.16 31.71
8.10% 7.10% 6.40% 6.00% 5.90% 8.90% 6.90%
17 11 15 12 10 4 69
97.52% 98.53% 99.04% 98.96% 97.18% 98.55% 98.23%
31.62 31.56 31.89 31.74 31.51 30.55 31.63
7.80% 6.50% 5.90% 5.90% 6.30% 10.60% 6.70%
18 11 15 12 10 5 71
97.48% 98.78% 98.99% 98.80% 97.40% 97.70% 98.23%
31.47 31.46 31.56 31.72 31.56 30.79 31.53
8.00% 7.30% 6.50% 6.50% 6.00% 7.90% 7.00%
17 11 15 12 10 4 69
97.47% 98.91% 99.23% 99.11% 97.94% 97.47% 98.45%
31.02 31.58 31.44 31.75 31.64 31.57 31.46
90.80% 94.10% 92.90% 94.10% 94.50% 92.20% 93.10%
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EXLE S 39 27 39 21 33 5 164

99 5 1% Het-% # % 98.19% 97.79% 98.63% 98.83% 98.18% 93.72% 98.15%
Hct-T 358 31.67 31.70 31.43 31.51 31.43 30.57 31.53

Hct <2475 4~ ¢ 2.70% 3.40% 3.20% 2.10% 3.00% 5.20% 3.00%

RS 3 39 27 39 21 33 5 164

99 5 9% Het-% # & 97.86% 97.73% 98.76% 99.20% 97.56% 97.53% 98.14%
Hct-T 3218 31.58 31.84 32.04 31.79 31.74 30.39 31.76

Het <247 » vt 3.00% 3.20% 3.20% 2.10% 2.20% 4.60% 2.90%

[EXLS 3 39 27 40 23 33 5 167

99 5 3% Het-% #& & 97.51% 97.77% 98.74% 99.09% 97.69% 96.54% 98.03%
Het-T 328 31.72 31.76 31.77 31.79 31.86 30.86 31.75

Het <2477 &t 3.20% 3.40% 2.60% 2.10% 2.90% 3.10% 2.90%

[EXLS 3 39 28 40 23 33 5 168
99 % 4% HCt-%" ’ﬁé fi 97.84% 97.78% 96.36% 98.99% 98.20% 97.96% 97.71%
Het-T 3518 31.45 31.74 31.64 31.58 31.71 30.49 31.59
Hct <247 4~ +* 3.10% 2.80% 3.20% 2.70% 2.70% 3.90% 3.00%

F 7 e 39 28 40 23 33 5 168
99& /] 2+ Het-% & 5 97.88% 97.86% 98.16% 98.98% 97.96% 96.35% 98.04%
Het-T 3518 31.51 31.67 31.62 31.58 31.58 30.52 31.56
Hct <247 4 vt 3.00% 3.30% 3.00% 2.20% 2.70% 4.20% 2.90%
[EXLS 3 41 28 39 23 34 5 170
e Hct-% # & 97.84% 98.06% 98.12% 98.69% 97.40% 96.57% 97.94%
1008 %1% | sion 31.41 31.43 31.33 31.46 31.34 30.34 3136
Hct < 26—F:|‘ AL 7.90% 8.00% 7.40% 6.90% 7.50% 10.40% 7.70%
P 7 e 41 28 38 24 34 5 170
s Hct-% # % 97.83% 98.01% 98.09% 98.48% 97.59% 98.26% 97.98%
100 %2% |z 31.42 31.26 31.38 31.47 31.56 30.29 3137
Het < 267 A 1t 7.60% 8.00% 8.10% 6.00% 6.70% 9.30% 7.50%

EXLE S 42 29 38 24 34 5 172
100& 53% Het-% # 5 97.93% 98.49% 98.82% 98.64% 98.50% 96.81% 98.40%
Het-T 3218 31.57 31.76 31.57 32.07 31.58 30.55 31.64
Hct <267 4 * 7.00% 6.10% 7.40% 4.60% 6.40% 6.40% 6.50%

EXEE S 42 29 37 24 34 4 170
100& $4% Het-% # 5 98.14% 98.50% 98.40% 98.66% 98.46% 98.73% 98.41%
Hct-T 3218 31.56 31.50 31.64 31.79 31.54 30.64 31.57
Hct <267 4t 7.00% 6.70% 6.70% 4.70% 7.30% 5.90% 6.60%

[EXLS '3 42 29 39 24 34 5 173
. Het-% # 3¢ 97.94% 98.20% 98.33% 98.60% 98.01% 97.52% 98.16%

100 )3 Het-T 3218 31.40 31.44 31.38 31.61 31.41 30.34 31.40
Het <267 4 7.40% 7.20% 7.20% 5.50% 6.90% 8.10% 7.00%

EXES 3 41 29 39 24 34 4 171
101 512 Hct-% & 3 98.00% 98.16% 98.27% 98.24% 98.13% 94.08% 98.06%
Hct-T 338 31.50 31.46 31.51 31.33 31.37 30.39 31.43
Hct =267 4+t 93.50% 93.60% 93.40% 94.10% 93.00% 91.50% 93.50%
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KRR L

(1)% ¥ % =( Hetfk it fo)/( & 2l 1 fe)

WESSIEECES SEFSTAERCR LS SN

(3)=26%F A W =[(GZFHct=26F 4 v E*3% k2~ )2 & 4r)/(1 & #c2 4,40))*100]
4fEILD R

(D= &5 =90% -

P 101 & Azeade B 2 =26 A~ 4t) o

Q)fF Felafr2 F101#47 9p 7% 2 i%3F 101000702953+ %0 p 101# $ 15 &4 5 226% 2. F A v =90% ;> B & 5 B >80% -

SHAE Y LR RERF R FHe
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\,:37”‘ % ks @?\f FS }3- ‘i?\r ;’L
80 35 56 57 55 5 288
98.36% 98.28% 98.41% 98.46% 97.94% 99.15% 98.31%
31.67 31.88 32.21 31.49 32.15 31.41 31.84
2.30% 2.40% 2.10% 2.60% 2.20% 3.70% 2.30%
81 34 56 57 56 5 289
98.26% 98.43% 98.81% 98.58% 98.09% 98.06% 98.41%
32.00 32.41 32.35 31.55 32.33 31.60 32.07
1.80% 2.00% 1.90% 2.80% 2.20% 3.40% 2.20%
82 36 56 58 57 4 293
98.25% 98.37% 98.76% 98.69% 98.00% 98.86% 98.40%
32.02 32.20 32.11 31.62 32.11 32.18 31.99
2.00% 2.20% 1.90% 2.70% 2.70% 2.00% 2.30%
82 36 56 58 57 4 293
98.29% 98.48% 98.46% 98.57% 97.94% 99.42% 98.34%
31.72 31.94 31.95 31.39 31.98 31.67 31.77
2.30% 2.90% 2.50% 2.20% 2.60% 2.60% 2.40%
82 36 56 58 57 4 293
98.35% 98.36% 98.62% 98.64% 98.02% 98.73% 98.40%
31.74 31.98 32.05 31.42 32.05 31.62 31.82
2.10% 2.40% 2.10% 2.60% 2.40% 3.10% 2.30%
84 36 57 59 60 5 301
98.15% 98.15% 98.04% 98.58% 97.45% 98.83% 98.08%
31.51 31.69 31.49 31.28 31.84 30.91 31.54
5.70% 6.50% 5.70% 5.90% 5.70% 7.40% 5.80%
84 37 57 59 61 5 303
98.29% 98.28% 98.31% 98.57% 98.22% 98.55% 98.34%
31.59 31.68 31.57 31.49 32.06 31.01 31.67
5.30% 6.40% 5.50% 5.70% 5.00% 7.90% 5.50%
83 35 58 60 60 6 302
98.24% 98.64% 98.15% 98.63% 97.98% 98.06% 98.29%
31.58 31.91 32.01 31.95 32.09 31.67 31.88
5.30% 5.80% 5.20% 4.60% 4.80% 6.50% 5.10%
83 35 58 60 60 6 302
98.29% 98.60% 98.50% 98.46% 98.38% 97.46% 98.40%
31.60 31.78 32.00 31.70 31.95 30.96 31.78
5.10% 5.80% 4.80% 5.30% 5.00% 9.50% 5.20%
85 38 58 60 61 6 308
98.25% 98.34% 98.32% 98.57% 97.96% 97.93% 98.27%
31.48 31.68 31.65 31.52 31.90 30.98 31.62
5.30% 6.20% 5.30% 5.30% 5.10% 8.60% 5.40%
82 35 59 60 61 8 305
98.37% 98.61% 98.50% 98.71% 98.32% 98.70% 98.48%
31.50 31.41 31.71 31.46 31.74 29.95 31.54
94.90% 93.60% 94.50% 95.00% 95.00% 88.10% 94.60%




ES3 SFATL EF RIS T 2317 Ha(s #TRF T ERH)

% R o5 £ 3t
A% ol 2 T E 3 % 3 5 % % ]2t

e 146 75 113 92 101 16 543

s e |HeEEE 98.07% 98.28% 98.68% 98.73% 98.22% 97.40% 98.34%
Het-T $5 18 31.63 31.75 31.78 31.43 31.91 30.90 31.68

Het-<247 A 2.60% 2.90% 2.70% 2.80% 2.50% 3.50% 2.70%

Fo o e 147 74 113 92 102 16 544
L Hot- 5 1 % 98.04% 98.19% 98.86% 98.68% 98.02% 97.53% 98.31%
EANEE S 31.77 31.94 32.09 31.54 32.15 30.99 31.87
Het-<247 A 1t 2.50% 2.70% 2.60% 3.10% 2.20% 3.00% 2.60%

oo i 148 76 114 95 103 15 551
g9s 95 |He-EHd 97.80% 98.15% 98.76% 98.76% 98.08% 97.86% 98.25%
Het- T #5i8 31.83 31.85 31.89 31.60 32.05 31.35 31.84
Hot-<24F A vt 2.70% 3.00% 2.50% 3.00% 2.60% 2.80% 2.80%
ot e 148 77 114 95 103 15 552
g0 yqs  |HetE W 98.02% 98.31% 97.90% 98.60% 98.17% 98.26% 98.17%
Hot T ¥ 16 31.63 31.76 31.78 31.44 31.87 31.10 31.68
Het-<247 A 1t 2.90% 3.20% 3.10% 2.80% 2.70% 2.90% 2.90%
Fo o e 148 77 114 95 103 15 552
N 97.98% 98.28% 98.56% 98.72% 98.13% 97.62% 98.28%
Hot-T #5i8 31.63 31.74 31.80 31.43 31.92 31.02 31.68
Het-<247 A 1t 2.70% 3.00% 2.70% 2.90% 2.50% 3.10% 2.70%

oo 152 77 114 9% 107 16 562
005 15 |HerE 97.87% 98.24% 98.18% 98.51% 97.55% 97.84% 98.03%
Het- 3o 18 31.47 31.51 3147 31.37 31.76 30.84 31.50
Het < 267 A 6.80% 7.50% 6.70% 6.70% 6.10% 7.00% 6.70%

oo 152 78 113 97 108 16 564
l00% po5  |HetE 97.74% 98.25% 98.36% 98.50% 98.00% 98.21% 98.12%
Het- T 3518 31.54 31.51 31.53 31.57 31.89 30.76 31.59
Het < 267 A 6.60% 7.10% 6.60% 5.90% 5.60% 7.40% 6.40%

oo 153 77 114 08 107 17 566
100 g5 |HerE 97.98% 98.74% 98.49% 98.72% 98.04% 97.68% 98.32%
Het- T 3518 31.62 31.80 31.78 31.90 31.94 31.09 31.78
Het < 267 A 6.30% 6.20% 6.40% 5.10% 5.50% 7.00% 6.00%

P 152 77 113 o8 107 15 562
. Hot- # % 97.94% 98.54% 98.49% 98.52% 98.25% 98.04% 98.29%
100 %4%F g zime 31.58 31.63 31.84 31.64 31.83 30.78 31.68
Het < 267 A+t 6.10% 6.30% 5.80% 5.40% 5.80% 7.80% 5.90%

Fo o e 155 80 115 08 108 17 573
100 4-  [Hot% 97.89% 98.39% 98.40% 98.58% 97.94% 97.82% 98.18%
Hot-T 5 31.48 31.56 31.56 31.54 31.78 30.71 31.56
Het < 26 A vt 6.40% 6.70% 6.30% 5.70% 5.70% 7.60% 6.20%

B o 150 77 116 o8 108 17 566
1k g1e  [HeeEHS 97.95% 98.52% 98.61% 98.70% 98.29% 97.46% 98.34%
Het- T 3518 31.41 31.51 31.58 31.46 31.70 30.57 31.50
Het =267 A 1t 93.60% 93.80% 93.90% 94.50% 94.30% 90.80% 93.90%
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BRSS 1AL EFRRBE s RS2 FERTHES 1)
&% Rl TEY
A e S o % T 3 ¥ 3 B L T 2t

RS '3 8 2 3 2 3 1 19

PES1ZF |BFEFFIEZ»= F 1.16% 0.00% 0.58% 1.00% 0.34% 0.00% 0.78%
FITER=1E2 = F 0.66% 0.37% 0.69% 0.89% 0.52% 0.23% 0.60%

[EXES 4 8 2 3 2 3 1 19

9& %2%F |EPEFRF &L= F 0.79% 0.00% 0.51% 0.42% 0.87% 0.00% 0.63%
BERF=IE2 - F 0.56% 0.22% 0.92% 0.59% 0.49% 1.39% 0.59%

[EXES 4 8 2 3 2 3 1 19

9£ %3% |EPEFRF &2+ F 1.02% 0.00% 0.49% 0.38% 0.88% 3.29% 0.76%
S ERFIEZ = F 0.62% 0.37% 0.77% 0.29% 0.54% 0.47% 0.56%

[EXLS 4 8 2 3 2 3 1 19

9& %4%F |EFHRFAE2Z 7= F 0.43% 0.00% 1.15% 1.24% 0.00% 0.00% 0.61%
BERFIEZ - F 0.67% 0.50% 0.79% 1.22% 0.32% 0.96% 0.63%

XS '3 8 2 3 2 3 1 19

99& ] 2+ |FZHEFRFIEZ = F 0.84% 0.00% 0.67% 0.74% 0.54% 0.72% 0.70%
S ERFIEZ = F 0.63% 0.37% 0.79% 0.75% 0.47% 0.76% 0.60%

XS '3 9 2 3 2 3 1 20

1008 %1% |45 mEmE<leaz = & 1.29% 0.00% 1.02% 0.00% 0.85% 2.13% 1.00%
S ERF=1#2 - F 0.72% 0.52% 0.33% 1.16% 0.50% 0.24% 0.60%

[EXES 4 9 2 3 2 3 1 20

100 5 2% |S47pRF <1E2 7= F 0.62% 1.44% 0.66% 0.45% 0.00% 1.04% 0.55%
SPERF=1#2 - F 0.68% 0.88% 0.45% 1.14% 0.55% 0.70% 0.67%

[EXES e 10 2 3 2 3 1 21

100 5% 3% |S4rpR <1E2 7= F 0.99% 0.00% 0.00% 0.00% 0.92% 0.00% 0.58%
SERF=1#2 - F 0.49% 0.14% 0.49% 0.83% 0.47% 1.57% 0.51%

[EXES e 10 2 3 2 3 1 21

100 4% |E47pF <1E2 57+ F 1.25% 1.50% 0.26% 0.00% 0.94% 1.56% 0.82%
SPERF=1#2 - F 0.58% 0.36% 0.81% 0.55% 0.50% 0.65% 0.57%

[EXES e 10 2 3 2 3 1 21
1002 -] 3+ |EPTERFIEZ > F 1.03% 0.72% 0.46% 0.11% 0.67% 1.20% 0.73%
SPERF=1#2 - F 0.62% 0.47% 0.52% 0.92% 0.50% 0.80% 0.59%

EXES 'S 10 2 3 2 3 1 21
101# $1%F [Srpm<iez = % 1.56% 0.00% 0.88% 0.44% 1.09% 0.00% 1.07%
ZER>1E2 o= X 0.81% 0.58% 0.30% 0.79% 0.58% 0.42% 0.64%

B LR KR 20T HRFLEI101E77 11p FRJ R -
2FENFR AP LS RATY FRESCETEREL 2 TR

3.5
OES R R G E: R
QEFHFEE=1E2 5= :

44t RE

= (ST E 2 B R 2
&
4

~ W

A5 E T 3B *(1£10%) [ w4 R 4o B(+) F 1 FTE
BER<1EZ 7= %5 101# 50.92% -
BHEF=1£2 5= 55 101# 50.69% °

SHEHAEE Y ARERGHFFEEHE

@ 4r)*100),/(Gop 4 * fiz i) o
(BT 4 B E 2o B E2 7004100/ (G ¢ 0 B2 g i) -

B g BB R () (F T I )




o
19
1.11% 11
1.20% 0.85% 15
F'
19 0.73% 0.99% 12 i
1.18¢ 11 0.97% 0.17% 10
5 0 0.939 5
0.94% 1.20% 15 66% 93% 1 =
19 0.75% 0.89% 12 0.86% 27% 0580
1.10° 11 0.80% 1.00% 10 0.50% .88%
1% 0 0.81° 5 0.89%
0.78% 1.24% 15 74% 81%
— . 0.78% 2.88% 72
19 0.70% 1.14% 12 /870 | () R
1.44° 11 0.73% 1.37% 10 21% 11%
Aa% 1.10° 0.82%
0.97% 0.96% 15 0.82% 10% 5
- ’ 0.48° 1.18% 72
19 0.80% 0.65% 12 A48% 6 1
1.58¢ 1 1.42% A17%
1210 1 0.78% 58% 0
21% 1,250 0.73%
0.97% 1.06% 15 0.64% 25% 1 5 &
18 0.74% 0.91% 12 0.68% 31% 1 2102
1.10% 11 0.82% 1.05% 10 1.17% O'Slf
1.09% 1.39% 15 0.71% 1.01% 5 81%
18 1.20% 1.25% P 0.70% 1.69% 1 72
0.97% 11 1.07% 0.31% 10 1.08% 10%
0.83% 0.78% 15 0.83% 0.44% 5 0.81%
18 0.76% 0.82% 12 0.75% 0.66% 71
1.39% 11 0.84% 0.92% 10 1.46% 0.92%
0.71% 0.63% 15 0.74% 0.68% 5 1.00%
17 0.48% 0.93% 12 0.49% 2.23% . 71
0.94% 11 0.83% 0.85% 10 0.47% .89%
0.84% 0.42% 15 0.66% 1.52% 5 0.73%
18 0.95% 1.11% 12 1.02% 1.51% 71
1.11% 11 0.95% 0.86% 10 0.44% 1.10%
0.87% 0.80% 15 0.84% 1.31% 4 0.73%
17 0.85% 1.03% 12 0.59% 0.00% 69
1.34% 11 0.92% 0.76% 10 0.70% 0.90%
1.17% 0.77% 15 0.77% 0.99% 5 0.83%
0.83% 0.79% 12 0.71% 1.12% 71
0.75% 0.67% 10 0.76% 0.96%
0.60% 2.26% 4 0.82%
0.74% 0.74% 69
0.58% 1.16%
0.83%




pIESS BITREE EF RIS T ph-2 st 7= F(oBRTHFFF ERE)
% s , - - 2Rt A - _
b e Y oAt A % Fe B W B A Fe 2k

EREE 13 39 27 39 21 33 5 164
992 ¥ 1% [JHEF<IE2Z = F 0.43% 1.55% 0.45% 1.85% 1.06% 0.51% 0.93%
SHEEE1E2 = & 0.54% 0.67% 0.71% 0.89% 0.85% 1.29% 0.72%
EREE S 39 27 39 21 33 5 164
99% 2% [SHEEF<lEz = & 0.89% 1.04% 0.36% 0.92% 0.71% 0.00% 0.73%
SR E2 = & 0.63% 0.57% 0.72% 0.75% 0.78% 0.64% 0.68%
EXES 39 27 40 23 33 5 167
99 $3% [FHEF<IE2Z 7~ F 0.90% 0.66% 1.10% 1.56% 0.99% 1.22% 1.03%
SHEEE1E2 = & 0.66% 0.67% 0.71% 0.87% 0.96% 0.93% 0.76%
EREE 23 39 28 40 23 33 5 168
99F $4%F |F¥mER<lEz = & 0.66% 0.56% 0.65% 1.33% 1.25% 1.47% 0.88%
SR> E2 = % 0.67% 0.64% 0.62% 0.80% 0.71% 0.61% 0.67%
EXES 39 28 40 23 33 5 168
99 ]+ |BHER<1EzZ = & 0.72% 0.93% 0.65% 1.41% 1.00% 0.87% 0.89%
SR> E2 = % 0.62% 0.64% 0.69% 0.82% 0.83% 0.86% 0.71%
N 41 28 39 23 34 5 170
100 51% [gHmpr<ies »= % 0.72% 1.48% 0.96% 1.71% 0.99% 1.92% 1.14%
_;2 ’l“r 53*: F>1&2 5= j? 0.72% 0.74% 0.57% 0.96% 1.03% 0.92% 0.78%
£3 HLi—;g( 41 28 38 24 34 5 170
100# % 2§ 3\5‘,—2 ﬁ}fr B}, < g2 o= 3 0.60% 1.34% 0.35% 0.88% 1.40% 0.72% 0.84%
_;\5‘,—2 ﬁ}fr B}, B>1Fg2 7= 3 0.72% 0.54% 0.73% 0.62% 0.84% 0.39% 0.68%
P i 42 29 38 24 34 5 172
100# 3% [SH@EF<lEz = F 0.87% 0.62% 0.76% 0.62% 0.61% 0.81% 0.72%
A E R 0.61% 0.59% 0.62% 0.76% 0.64% 0.55% 0.63%
BT S 42 29 37 24 34 4 170
100# 4% [S4rpR<leazr »= & 1.00% 0.82% 1.01% 1.06% 1.12% 2.74% 1.06%
SR> E2 = & 0.67% 0.79% 0.67% 0.47% 0.69% 0.31% 0.66%
BT S 42 29 39 24 34 5 173
100# ] 3+ |BHPERF<1IEZ - % 0.82% 1.05% 0.74% 1.05% 1.03% 1.45% 0.94%
SR> E2 = & 0.68% 0.67% 0.64% 0.70% 0.80% 0.54% 0.68%
b o i 41 29 39 24 34 4 171
101 %1% [B1THF &z F 0.97% 1.13% 0.83% 0.72% 1.40% 1.53% 1.02%
SHEERF1E2 = & 0.75% 0.80% 0.73% 1.09% 0.88% 0.73% 0.82%

B LR KRR S TRFE 101270 11p FAEETH -
2EHFR EP LS FRESETRFLE TR -

3.a5NEpP
(WBFTEFRF<IEZ7»= F=((FE - 227 Bii
F=((BAF A E - E2 BR B Bfr)*100), /(R L P Bz Bfr) o
RS Sk O

QBITHERF =12 7= :

BEEF<IEZ = X

R ER

2Bt

1 BATSE LR EH(1£10%) [ f o 4 HRBs 4o BU(H) (7 FLE
<> 101#& 50.92%
FREF=1E22 7= 55 101# 50.69% o
PR R E R

o
50

F0)*100),/ (s + 7 ez 59v) -




=

T

e

-
m

80 35 56 57 55 5 288
0.77% 0.58% 0.87% 0.26% 0.63% 0.00% 0.61%
0.45% 0.53% 0.71% 0.66% 0.55% 0.22% 0.57%
81 34 56 57 56 5 289
0.40% 0.44% 0.24% 0.19% 0.62% 0.85% 0.40%
0.38% 0.44% 0.54% 0.48% 0.58% 0.44% 0.48%
82 36 56 58 57 4 293
0.62% 0.57% 0.63% 0.36% 0.44% 0.79% 0.52%
0.46% 0.29% 0.53% 0.57% 0.59% 0.68% 0.51%
82 36 56 58 57 4 293
0.59% 1.02% 0.39% 0.63% 0.56% 1.74% 0.63%
0.41% 0.51% 0.57% 0.56% 0.49% 0.34% 0.50%
82 36 56 58 57 4 293
0.59% 0.68% 0.52% 0.36% 0.56% 0.86% 0.54%
0.42% 0.44% 0.59% 0.57% 0.55% 0.42% 0.51%
84 36 57 59 60 5 301
0.51% 0.11% 0.42% 0.73% 0.64% 1.11% 0.53%
0.62% 0.75% 0.61% 0.52% 0.65% 0.44% 0.62%

84 37 57 59 61 5 303
0.43% 0.57% 0.39% 0.18% 0.66% 1.35% 0.46%
0.55% 0.65% 0.57% 0.56% 0.42% 0.54% 0.54%

83 35 58 60 60 6 302
0.56% 0.28% 0.23% 0.18% 0.35% 0.00% 0.36%
0.46% 0.58% 0.54% 0.45% 0.56% 0.97% 0.51%

83 35 58 60 60 6 302
0.24% 0.38% 0.41% 0.66% 0.46% 0.00% 0.40%
0.45% 0.42% 0.60% 0.52% 0.51% 0.54% 0.50%

85 38 58 60 61 6 308
0.43% 0.34% 0.36% 0.43% 0.52% 0.60% 0.43%
0.52% 0.60% 0.58% 0.51% 0.53% 0.62% 0.54%

82 35 59 60 61 g 305
0.57% 0.42% 0.26% 0.40% 0.11% 0.83% 0.38%
0.51% 0.62% 0.71% 0.47% 0.72% 0.80% 0.60%




]RSSBT L LB RIS T S = F(LRTHES ERE)

2 % 5l 5 % ' % 35 35 E

ERLE S 146 75 113 92 101 16

9 %1F BRI+ F 0.82% 0.96% 0.71% 0.64% 0.76% 0.62%
FER=1E2 = F 0.65% 0.62% 0.76% 0.71% 0.67% 0.62%

EXLS 4 147 74 113 92 102 16
9& %2%F |EHHFRFAE2Z = F 0.76% 0.83% 0.44% 0.52% 0.70% 1.16%
EERFZI&2 = ¥ 0.57% 0.56% 0.68% 0.59% 0.65% 0.84%

[ERLS i d 148 76 114 95 103 15
99# %3%F [B¥HEFRFIEZ &= X 0.85% 0.74% 0.87% 0.82% 0.73% 1.23%
EER=1E2 - ¥ 0.59% 0.54% 0.64% 0.67% 0.65% 0.93%

[EXLS 4 77 114 95 103 15
99# %4F |FHERF<IEZ= X 0.78% 0.80% 0.61% 1.02% 0.84% 1.33%
S ERF=IE2 = X 0.63% 0.63% 0.65% 0.65% 0.55% 0.73%

P i 148 77 114 95 103 15
99 & ] |FEHEFIEZ &= F 0.80% 0.83% 0.66% 0.75% 0.76% 1.10%
EERFZI&2 = F 0.61% 0.59% 0.68% 0.66% 0.63% 0.78%

[EXES 4 152 77 114 96 107 16
1008 %1% |SHPEF<IE2Z 7= F 0.79% 0.90% 0.83% 0.81% 0.70% 1.51%
ST EF=1E2 = X 0.74% 0.84% 0.67% 0.70% 0.73% 0.83%

[EXES e 152 78 113 97 108 16
1002 %2%F |SHPEF<IE2Z 7= F 0.60% 0.90% 0.48% 0.53% 0.79% 1.20%
S EF=1E2 = X 0.66% 0.65% 0.66% 0.64% 0.54% 0.49%

[EXLS 4 153 77 114 98 107 17
100# %3%F |SHPEF<IE2Z 7= F 0.84% 0.48% 0.54% 0.43% 0.64% 0.75%
ST EF=1E2 5~ X 0.54% 0.53% 0.62% 0.57% 0.65% 0.77%

[EXES e 152 77 113 98 107 15
100# %4% |EPFPEFRF<1&#2 7= F 0.66% 0.56% 0.74% 0.75% 0.78% 1.32%
EERFZI&2 - F 0.59% 0.69% 0.71% 0.58% 0.56% 0.53%

[EXEE 4 155 80 115 98 108 17
100# |3+ SRR <IE2Z >~ F 0.73% 0.71% 0.64% 0.62% 0.73% 1.20%
FSYER>1E2 = % 0.63% 0.68% 0.66% 0.62% 0.62% 0.66%

P 7 e 150 77 116 98 108 17
101# %1% |BHFER<IEZ = & 0.91% 0.74% 0.63% 0.54% 0.90% 0.89%
FrpER=1E2 = X 0.73% 0.73% 0.69% 0.63% 0.74% 0.67%

B LFREKRR D R oBTRFFEI01277 11p THRAETH -
2EHEER AP LE R FRECETEREFL LT -
3.aNmp
(DBHTPFR <1E 250~ F =((F7 0¥ - #2577 B EE2 B10)*100), (&% * 7 2 i) -
Q)EATRE Z1# 2572 F =((F47* 30 %0 - #2572 B2z Bi0)*100) /(o £ 7 Bz ) -
4P RE © B ITSE T IER(1£10%) ( § e dp fRPe 5(H) (F1 FUE ~ T g B 5u(-) 177 PLiE )
B ER<1E2 7= &5 101# 5092% -
B ERF=1E2 7= &5 101# 50.69% -
SHEiER P LR RGAFSE EHE







I 510 BAT RIS X FRIRS T F-0d 47 oL 79 -9 (Albumin)(o BT % F F ¢ & &)
&% Rl FE?
5 T B o A i ¢ 3 B A L T 3t

B i 8 1 3 2 3 1 18

Albumin- % ¥ ¥ 96.91% 99.13% 98.83% 99.23% 98.18% 98.67% 98.09%

Albumin(BCG) 3k 8 1 2 2 3 ] 16

99 4% Albumin(BCG)-L 321 3.85 3.96 3.84 3.80 3.82 - 3.85

Albumin(BCG)<3.5F 4 +* 16.91 % 12.70 % 17.61 % 21.59 % 17.28 % - 17.05 %

Albumin(BCP) 3 ; ; 1 ] ] | 2

Albumin-- 35 & (BCP) - - 3.19 - - 3.13 3.17

Albumin(BCP)<3.0F 4 1t ) ] 19.90 % ; ; 28.40 % 22.27 %

B i 8 1 3 2 3 1 18

Albumin- % ¥ ¥ 97.31% 98.59% 98.47% 98.41% 97.59% 98.63% 97.91%

Albumin(BCG) Fik 8 1 2 2 3 1 17

99 Albumin(BCG)* 32 1& 3.82 393 3.78 3.78 3.77 3.67 3.81

Albumin(BCG)<3.5F 4 +* 18.46 % 13.29 % 20.86 % 20.12 % 20.82 % 29.56 % 19.15 %

Albumin(BCP) Fdk 1 ; 1 ; ; 1 3

Albumin-- 32 & (BCP) 3.68 - 3.15 - - 3.09 3.23

Albumin(BCP)<3.0p 4 +* 4.85 % - 23.41 % - - 31.51 % 22.57 %

Fe e 9 1 3 2 3 1 19

Albumin-= # % 96.89% 98.89% 98.88% 97.02% 97.86% 100.00% 97.77%

Albumin(BCG) Fdik 9 1 2 2 3 - 17

100 %1% Albumin(BCG)-T =2 1& 3.82 3.92 3.75 3.74 3.75 0.00 3.80

Albumin(BCG)<3.5F 4+t 18.59% 14.10% 21.78% 17.13% 20.23% 0.00% 18.57%

Albumin(BCP) 3k - - 1 - - 1 2

Albumin--T ¥ & (BCP) - - 3.20 - - 3.15 3.19

Albumin(BCP)<3.0F A 1* - - 17.10% - - 29.30% 20.44%

[EXLS 4 9 1 3 2 3 1 19

Albumin- % # ¥ 97.23% 98.65% 98.59% 98.50% 99.30% 100.00% 98.20%

Albumin(BCG) 7k 9 1 2 2 3 - 17

L Albumin(BCG)-T =2 1& 3.82 3.90 3.73 3.74 3.73 - 3.79

100# %2% | Albumin(BCG)<3.57 4 1+ 18.85% 14.60% 23.14% 17.96% 24.67% ; 19.83%

Albumin(BCP) 3k - - 1 ; ; 1 2

Albumin--% 32 & (BCP) - - 3.15 ; ; 3.05 3.12

Albumin(BCP)<3.0 7 4 +“ - - 0.173 - - 0.373 0.2281

2 91 #ic 9 1 3 2 3 1 19

Albumin- % # & 97.38% 98.87% 98.18% 98.51% 97.80% 100.00% 97.97%

Albumin(BCG) 7k 9 1 2 2 3 - 17

100 % 3% Albumlzn(BCG)—‘T-’ E=0T) 3.81 3.86 3.75 3.72 3.72 - 3.78

Albumin(BCG)<3.5F 4 it 19.26% 14.20% 18.18% 21.13% 23.04% - 19.31%

Albumin(BCP) Fk - - 1 - - 1 2

Albumin--=< 2 (BCP) - - 3.20 - - 3.13 3.18

Albumin(BCP)<3.0p 4 +* - - 13.70% - - 25.00% 16.85%

[EXES 9 1 3 2 3 1 19

Albumin- % ¥ ¥ 97.26% 99.77% 98.59% 97.57% 98.63% 98.75% 98.11%

Albumin(BCG) 33k 9 1 2 2 3 ; 17

100 5 4% Albumin(BCG)-* 32 1E 3.87 3.92 3.84 3.75 3.80 - 3.84

Albumin(BCG)<3.5F 4 +* 15.47% 11.10% 14.49% 23.68% 18.02% - 16.18%

Albumin(BCP) 38 - - 1 . . 1 2

Albumin--T ¥ & (BCP) - - 3.13 - - 3.18 3.14

Albumin(BCP)<3.0p 4 +* - - 21.10% - - 25.30% 22.32%

[EXES 9 1 3 2 3 1 19

Albumin- % ¥ ¥ 97.19% 99.05% 98.56% 97.90% 98.40% 99.67% 98.01%

Albumin(BCG) 3k 9 1 2 2 3 ; 17

1004 -J- 2> Albumin(BCG)-* 3218 3.83 3.90 3.77 3.74 3.75 - 3.80

Albumin(BCG)<3.5F 4 +* 18.03% 13.50% 19.40% 20.00% 21.49% - 18.47%

Albumin(BCP) 38 - - 1 . . 1 2

Albumin--T 35 & (BCP) - - 3.17 - - 3.13 3.16

Albumin(BCP)<3.0f 4 +* - - 17.29% - - 29.16% 20.60%

P #7 Hic 9 1 3 2 3 1 19

Albumin- % ¥ ¥ 97.28% 99.33% 98.27% 97.41% 99.48% 97.47% 98.08%

Albumin(BCG) 3k 9 1 2 2 3 ; 17

101& 1% Album%n(BCG)iL' BiE 3.75 3.89 3.80 3.75 3.76 - 3.78

Albumin(BCG)=3.57 4 +* 77.42% 86.70% 82.27% 77.58% 81.72% - 80.15%

Albumin(BCP) 33k - - 1 - - 1 2

Albumin--T 35 & (BCP) - - 3.22 - - 3.05 3.17

Albumin(BCP)=3.0 4 +* - - 82.40% - - 71.40% 79.13%

(1) # Z=(Albumin# * # 8 10)/ (5 & Bl B40)
WEESHECGES SEFEHENC RIS AN

D SHTHRER 10107117 R wer
PEMBENIRTY BRECHETREFL LT

(3)= 3.5 gm/dl (BCG) & =3.0 gm/dl (BCP) F 4 * =[((3% = Albumin= 3.5 gm/dl (BCG)& =3.0 gm/dl (BCP) F 4 ‘" B *3% a2z 4% & #)2 4 f0)/(3k ~ iz %4.40))*100]
443 p EE
(1) # % =90% -

(2)f7 FepfErs

5.8 4 pER

101.07.12

F 10147 9p % 3 % 1010007029%5 3+ %>




TEFR

i Pt % P 3 % B A L% 3

16 10 12 9 8 2 57
97.49% 97.54% 99.70% 98.62% 99.13% 97.62% 98.39%
12 9 10 8 8 2 49
3.75 3.73 3.79 3.78 3.75 3.71 3.76
18.47 % 21.51 % 13.92 % 19.77 % 23.11 % 14.63 % 19.17 %
4 1 2 1 - - 8

3.46 3.62 3.34 3.09 - - 3.35
14.00 % 7.40 % 20.00 % 33.00 % - - 19.79 %
16 10 12 9 8 2 57
97.49% 98.42% 98.98% 98.35% 98.81% 98.72% 98.30%
12 9 10 9 8 2 50
3.71 3.68 3.74 3.70 3.74 3.73 3.72
21.71 % 2545 % 16.88 % 24.22 % 22.89 % 12.97 % 22.13 %
4 1 2 1 - - 8

3.45 3.65 3.11 3.09 - - 3.21
15.63 % 4.68 % 30.94 % 33.00 % - - 27.15%
15 10 12 9 8 2 56
99.08% 98.29% 99.13% 97.90% 98.84% 95.12% 98.57%
11 9 10 8 8 2 48
3.68 3.66 3.71 3.69 3.71 3.74 3.69
21.75% 21.54% 15.50% 23.41% 20.25% 15.36% 20.52%
4 1 2 1 - - 8

3.41 3.45 3.18 3.46 - - 3.42
16.76% 22.20% 28.59% 18.30% i i 18.34%
15 10 13 10 8 2 58
98.55% 98.94% 98.06% 97.24% 98.86% 97.62% 98.22%
11 9 11 9 8 2 50
3.61 3.64 3.74 3.67 3.70 3.75 3.67
27.25% 28.63% 20.13% 25.85% 23.57% 9.74% 24.67%
4 1 2 1 - - 8
34 3.49 3.29 3.05 - - 3.29
0.1477 0.24 0.2498 0.354 - - 0.2287
15 10 14 10 g 2 59
98.00% 97.87% 98.37% 97.39% 98.32% 95.35% 97.90%
11 9 12 9 8 2 51
3.61 3.63 3.73 3.66 3.70 3.73 3.67
26.64% 29.13% 17.93% 26.93% 21.30% 12.18% 24.02%
4 1 2 1 - - 8

3.41 3.45 3.32 3.03 - - 3.28
12.79% 9.10% 17.63% 36.80% - - 20.66%
14 10 13 10 8 2 57
97.82% 98.29% 98.92% 98.33% 99.18% 100.00% 98.47%
9 9 11 9 8 2 48

3.66 3.69 3.71 3.69 3.77 3.76 3.71
25.21% 23.59% 19.32% 27.00% 18.53% 13.61% 22.47%
5 1 2 1 - - 9

3.48 3.51 3.39 3.09 - - 3.39
14.29% 5.00% 11.10% 33.00% - - 17.73%
15 10 14 10 8 2 59
98.36% 98.35% 98.62% 97.72% 98.80% 97.06% 98.29%
10 9 12 9 8 2 50
3.66 3.65 3.72 3.68 3.72 3.74 3.69
24.50% 25.67% 18.21% 25.77% 20.89% 12.71% 22.66%
5 1 2 1 - - 9

3.50 3.47 3.30 3.16 - - 3.42
12.92% 15.95% 19.99% 30.95% - - 17.19%
14 10 14 11 8 2 59
97.67% 96.93% 98.92% 99.82% 98.36% 97.78% 98.44%
9 9 13 10 8 2 51

3.65 3.68 3.71 3.71 3.73 3.80 3.70
73.42% 77.45% 80.99% 74.65% 79.18% 84.08% 77.44%
5 | 1 1 - - 8

3.46 3.44 3.30 3.11 - - 3.38
83.06% 88.90% 88.90% 69.50% - - 80.43%




$7 8510 B4 45T & £ F R RIS T h -0 1

o F0 (Albumin)( - B THF F 6 # &)

s Y PERF IR
S e o A * % ¢ R 3 B 5 L F 3t

Albumin- # & 97.86% 100.00% 96.43% 100.00% 100.00% 100.00% 98.11%
Albumin(BCG) e 9 3 6 3 2 1 24
Albumin(BCG)-T 2 i 3.46 3.60 3.60 3.78 4.01 3.95 3.55
99 $4%  |Albumin(BCG)<3.5F A 1t 4236 % 35.33 % 31.36 % 25.03 % 0.00 % 0.00 % 36.72 %
Albumin(BCP) %k 1 0 6 . . . 7

Albumin- 5 & (BCP) 2.84 0.00 3.20 . . . 3.15
Albumin(BCP)<3.0F A" 40.00 % 0.00 % 33.32 % : i i 3427 %

P 10 3 2 3 2 1 3
Albnimin. £ H 97.49% 99.63% 97.84% 100.00% 96.97% 100.00% 97.95%
Albumin(BCG) e 9 3 6 3 2 1 24
Albumin(BCG)-T 2 i 3.52 3.63 3.67 3.72 3.93 3.72 3.59
99 Albumin(BCG)<3.5F A 1+ 37.86 % 26.93 % 19.69 % 24.68 % 8.34 % 0.00 % 31.56 %
Albumin(BCP) 3k 2 0 6 i i i 8
Albumin-< 5 & (BCP) 3.53 0.00 3.15 i i i 3.39
Albumin(BCP)<3.0F A" i 12.99 % 0.00 % 36.00 % i i i 21.45 %

T 11 3 12 3 2 1 32
Albumin- £ # & 95.86% 98.48% 98.94% 100.00% 96.15% 100.00% 96.99%
Albumin(BCG) 3 9 3 6 3 2 1 24

100 512 |Albumin(BCG) 5z 3.80 3.49 3.57 3.83 3.89 3.90 3.69
Albumin(BCG)<3.5F A 1+ 16.81% 38.49% 32.15% 14.32% 16.02% 0.00% 24.48%
Albumin(BCP) 3k 2 - 6 i i i 8

Albumin-- 2 & (BCP) 3.13 - 3.10 i i i 3.13
Albumin(BCP)<3.0F A i 19.39% ; 40.54% i i i 23.27%

e 10 3 12 3 2 1 31
Albumin- £ # & 96.00% 88.10% 94.12% 95.00% 100.00% 100.00% 95.14%
Albumin(BCG) 3 8 3 6 3 2 1 23
100 5125 |Albumin(BCG)T st 3.70 3.42 3.58 3.84 3.85 4.15 3.66
Albumin(BCG)<3.5F A 24.55% 45.94% 28.80% 10.54% 7.14% 0.00% 25.48%
Albumin(BCP) 3k 2 - 6 i i i 8
Albumin-- 5 & (BCP) 3.17 - 3.09 i i i 3.15
Albumin(BCP)<3.0F A i 0.1727 ; 0.3516 i i i 0.2041

1% e 9 3 12 3 2 1 30
Albumin- £ # & 97.32% 100.00% 96.36% 100.00% 100.00% 100.00% 97.60%
Albumin(BCG) 3 6 3 6 3 2 | 21

100 555 |Albumin(BCG)T 15t 3.74 3.27 3.58 3.84 3.85 3.55 3.64
Albumin(BCG)<3.5F A" 19.73% 48.80% 35.42% 21.03% 6.87% 0.00% 27.59%
Albumin(BCP) 35k 3 - 6 i i i 9

Albumin-- 5 & (BCP) 3.34 0.00 3.12 0.00 0.00 0.00 3.31
Albumin(BCP)<3.0F A it 9.79% 0.00% 36.60% 0.00% 0.00% 0.00% 14.08%

1% A e 9 3 12 2 2 : 28
Albumin- £ # & 97.38% 97.62% 100.00% 100.00% 100.00% 0.00% 98.20%
Albumin(BCG) e 7 3 6 2 2 20

100 545 |Albumin(BCG)E 35 3.74 3.47 3.61 3.90 3.92 0.00 3.69
Albumin(BCG)<3.5F A i 21.28% 43.90% 35.20% 0.00% 19.35% 0.00% 27.54%
Albumin(BCP) 3k 2 ; 6 i i i 8

Albumin-- 5 & (BCP) 3.20 - 3.14 i i i 3.19
Albumin(BCP)<3.0F A it 10.59% ; 33.35% : i i 15.35%

P 11 3 12 3 2 1 32
Albumin- ¥ & 96.65% 96.34% 97.39% 98.48% 99.12% 100.00% 96.99%
Albumin(BCG) 73 9 3 6 3 2 1 24

100 p 2+ |AlbuminBCG)IE 35 3.74 3.42 3.59 3.84 3.88 3.79 3.68
Albumin(BCG)<3.5F A 1 21.21% 43.49% 33.07% 15.19% 12.38% 0.00% 26.08%
Albumin(BCP) i 2 - 6 - - - 8

Albumin--X =& (BCP) 3.19 - 3.11 - - - 3.17
Albumin(BCP)<3.0F A i 14.62% : 36.26% i i i 18.75%

P2 b 9 3 11 2 2 1 28
Albumin- = ¥ & 96.54% 100.00% 100.00% 100.00% 96.97% 66.67% 97.50%
Albumin(BCG) 3 7 3 5 2 2 1 20

) Albumin(BCG)T 5 i 3.73 3.59 3.66 3.68 3.80 3.70 3.70
W01# %1% | Albumin(BCG)=3.5F A 76.52% 65.78% 81.07% 100.00% 87.51% 100.00% 78.32%
Albumin(BCP) 3k 2 ; 6 i i i 8

Albumin--* 5 (BCP) 3 ; 3 i i i 3
Albumin(BCP)=3.0F A * 87.44% - 63.03% i i i 82.36%

DR STHRTESE 1010711 F & weri o
CEPETRATY ERESPTHERFEE TR .

(1)% # 2 =(Albumin % » #8,§0)/ (s & 282 .40)
Q)T i =(f & BH T I E)2 B e/ A 2 B fe

(3)= 3.5 gm/dl (BCG) & =3.0 gm/dl (BCP) T 4 ** =[((;% FeAlbumin= 3.5 gm/dl (BCG) 2 =3.0 gm/dl (BCP) T 4 '* %37 Bz % & #0)2 240)/(3 + #ic2 4,4r))*100]

4 HmIE P R
(D= & =90% -

Q)fFrctefEs ¥ 101847 9p ¥ i 3 % 10100070295 & % 2> p 101 # 42 & £ % = 3.5 gm/dl (BCG) & =3.0 gm/dl (BCP) F A+ = 70% ; 2B & R FR/>T5% -

5.4 % pFRF £ 101.07.12




A

i W PR 3 T % A i W )3t

100.00% 100.00% 100.00% 100.00% 98.22%
3 1 4 3 100
3.86 4.20 3.88 3.82 3.80
20.00 % 0.00 % 6.12 % 5.89 % 19.19 %
0 0 0 0 17
0.00 0.00 0.00 0.00 3.26
0.00 % 0.00 % 0.00 % 0.00 % 21.81 %
3 1 4 3 117
100.00% 100.00% 100.00% 100.00% 98.07%
3 1 4 3 102
3.76 4.16 3.84 3.83 3.76
25.00 % 20.00 % 7.77 % 6.06 % 20.94 %
0 0 0 0 19

0.00 0.00 0.00 0.00 3.23
0.00 % 0.00 % 0.00 % 0.00 % 24.83 %
2 1 3 3 9
75.00% 100.00% 100.00% 100.00% 98.53%
2 1 3 3 9

4.07 4.00 3.97 3.80 3.93
0.00% 0.00% 6.38% 6.26% 5.97%

- - - - 0.00
- - - - 0.00%
2 2 3 3 10
66.67% 100.00% 97.96% 100.00% 97.85%
2 2 3 3 10
4.10 3.72 3.88 3.89 3.84
0.00% 12.00% 10.40% 0.00% 8.78%

- 2 2 3 7
- 100.00% 100.00% 100.00% 100.00%

- 2 2 3 7

- 3.73 3.88 3.77 3.80
- 11.07% 8.83% 0.00% 7.78%

1 2 2 3 8
100.00% 100.00% 100.00% 100.00% 100.00%
1 2 2 3 8

4.20 3.65 4.11 3.69 3.87
0.00% 25.90% 0.00% 13.33% 11.83%

2 2 3 3 10
77.78% 100.00% 99.39% 100.00% 99.05%
2 2 3 3 10

4.13 3.70 3.94 3.79 3.85
0.00% 15.37% 6.95% 4.76% 8.81%

- - 0.00 0.00 -
- - 0.00% 0.00% -

- 2 3 4 9
- 100.00% 100.00% 100.00% 100.00%

- 2 3 4 9

- 3.64 3.85 3.85 3.80
- 70.37% 93.47% 92.61% 87.00%
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XS & 37 15 31 17 13 4 117
Albumin- % ¥ ¥ 97.20% 98.65% 98.96% 98.93% 98.58% 98.32% 98.22%
Albumin(BCG) 3k 32 14 22 16 13 3 100
99 5 4% Albumin(BCG)-L 321 3.77 3.85 3.81 3.79 3.80 3.72 3.80
Albumin(BCG)<3.5F 4+ 20.76% 17.52% 16.45% 20.46% 19.04% 13.95% 19.19%
Albumin(BCP) 7Jk 5 1 9 1 - 1 17
Albumin--* 327 (BCP) 3.44 3.62 3.20 3.09 - 3.13 3.26
Albumin(BCP)<3.0F % +* 14.83 % 7.40 % 21.65 % 33.00 % - 28.40 % 21.81 %
[EXLS & 37 15 31 17 13 4 117
Albumin- % ¥ ¥ 97.39% 98.62% 98.63% 98.44% 98.03% 98.69% 98.07%
Albumin(BCG) 3 32 14 22 17 13 4 102
99 |- 2+ Albumin(BCG)-T =2 1& 3.76 3.83 3.77 3.74 3.76 3.68 3.76
Albumin(BCG)<3.5F 4+t 21.75% 18.31% 18.69% 22.27% 21.26% 25.70% 20.94%
Albumin(BCP) #Jdic 7 1 9 1 - 1 19
Albumin-- 32 (BCP) 3.54 3.65 3.15 3.09 - 3.09 3.23
Albumin(BCP)<3.0F 4 +* 11.83 % 4.68 % 25.38 % 33.00 % - 31.51 % 24.83 %
[EXLS & 37 15 30 17 13 4 116
Albumin- % ¥ ¥ 97.25% 98.64% 99.00% 97.61% 98.18% 98.31% 97.98%
Albumin(BCG) 3k 31 14 21 16 13 3 98
1002 5 1% Albumin(BCG)-T =& 3.79 3.80 3.74 3.72 3.74 3.74 3.76
Albumin(BCG)<3.5F 4+t 19.12% 18.64% 19.42% 19.96% 20.12% 14.61% 19.37%
Albumin(BCP) i 6 1 9 1 - 1 18
Albumin-- 32 iz (BCP) 3.27 3.45 3.18 3.46 - 3.15 3.26
Albumin(BCP)<3.0F 4 +* 18.12% 22.20% 21.21% 18.30% - 29.30% 20.39%
Fe A7 $ic 36 16 31 18 13 4 118
Albumin- % ¥ ¥ 97.35% 98.24% 98.03% 97.76% 99.16% 99.16% 97.96%
Albumin(BCG) 3 30 15 22 17 13 3 100
100& 592% Albumin(BCG)-T =2 1& 3.77 3.78 3.73 3.71 3.73 3.76 3.75
Albumin(BCG)<3.5F 4+t 20.92% 20.78% 21.77% 21.42% 23.74% 9.28% 21.53%
Albumin(BCP) i 6 1 9 1 - 1 18
Albumin-- 32 iz (BCP) 3.28 3.49 3.15 3.05 - 3.05 3.19
Albumin(BCP)<3.0F 4 * 0.1609 0.24 0.2043 0.354 - 0.373 0.2218
[EXLS 33 16 31 18 13 4 115
Albumin- = ¥ ¥ 97.52% 98.61% 98.13% 97.95% 98.06% 98.35% 97.94%
Albumin(BCG) 3k 26 15 22 17 13 3 96
100& 5 3% Albumin(BCG)-T 278 3.76 3.75 3.73 3.70 3.72 3.72 3.74
Albumin(BCG)<3.5F 4+t 20.82% 20.95% 18.94% 23.61% 21.91% 11.61% 21.07%
Albumin(BCP) i 7 1 9 1 - 1 19
Albumin-- 32 iz (BCP) 3.37 3.45 3.20 3.03 - 3.13 3.26
Albumin(BCP)<3.0F 4 +* 11.05% 9.10% 17.64% 36.80% - 25.00% 17.33%
[EXLS S 33 16 30 17 13 3 112
Albumin-= # & 97.41% 99.13% 98.86% 98.05% 98.88% 99.19% 98.26%
Albumin(BCG) %3k 26 15 21 16 13 2 93
100 5 4% Albumin(BCG)-L a1 3.83 3.81 3.78 3.72 3.79 3.76 3.79
Albumin(BCG)<3.57 4 17.17% 17.64% 17.29% 25.02% 18.25% 13.61% 18.69%
Albumin(BCP) %k 7 1 9 1 - 1 19
Albumin--L #51& (BCP) 3.38 3.51 3.15 3.09 - 3.18 3.27
Albumin(BCP)<3.0F 4 ** 12.97% 5.00% 22.54% 33.00% - 25.30% 18.53%
[EXLS 37 16 32 18 13 4 120
Albumin-= # & 97.39% 98.66% 98.50% 97.84% 98.57% 98.76% 98.04%
Albumin(BCG) %3k 30 15 23 17 13 3 101
Albumin(BCG)-* 32 1E 3.80 3.78 3.75 3.71 3.74 3.74 3.76
100-# - 3+ Albumin(BCG)<3.5F 4+t 19.11% 19.43% 19.26% 22.49% 21.00% 12.12% 20.01%
Albumin(BCP) 73 7 1 9 1 - 1 19
Albumin--T 327 (BCP) 3.39 3.47 3.17 3.16 - 3.13 3.28
Albumin(BCP)<3.0F 4 * 13.52% 15.95% 20.46% 30.95% - 29.16% 18.55%
[EXES i s 32 16 31 19 13 4 115
Albumin- % # ¥ 97.27% 98.51% 98.70% 98.80% 98.97% 96.85% 98.19%
Albumin(BCG) 73 25 15 23 18 13 3 97
101& 51% Albumin(BCG)-L 3215 3.73 3.79 3.76 3.73 3.75 3.79 3.75
Albumin(BCG)=3.5F 4+ 76.81% 81.93% 82.24% 76.78% 80.96% 84.77% 79.32%
Albumin(BCP) 33 7 1 8 1 - 1 18
Albumin--T 327 (BCP) 3.36 3.44 3.21 3.11 - 3.05 3.27
Albumin(BCP)=3.0F 4+t 84.65% 88.90% 78.89% 69.50% - 71.40% 80.53%
B AR AR AT RFE 610107117 4% ol -
2EAPR AP BEIRTY FRESCETHEFEE LT
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(1) f& 5 =(Albumin % & #c4t10)/(5 £ 482 4 1r)

Q)T B =4 BT $018) 2 o/ ~ ez e

(3)= 3.5 gm/dl (BCG) & =3.0 gm/dl (BCP) T 4 ** =[((;% FeAlbumin= 3.5 gm/dl (BCG) 2 =3.0 gm/dl (BCP) T 4 '* %37 Bz % & #o)2 240)/(3 + #ic2 4,4r))*100]

4 HmIE R
()% ¥ F =90% -

5.4 % R £ 101.07.12

Q)i Feta i $101£47 9p % i 3 ¥ 1010007029% 3% 2>

p101# 424 # 5 = 3.5 gm/dl (BCG)# =3.0 gm/dl (BCP) F 4 +* = 70% ; > B & 3 K >75% -
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P 7 #ic 8 1 3 2 3 1 18
99 ¥ 1% Het-= 4 & 98. 00% 99. 14% 98. 24% 99. 17% 98. 15% 98.57% 98. 3%
Hct-T &=iE 30. 24 31.59 30. 37 29. 81 31.13 30. 16 30. 55
Het < 247 ~ v 9. 90% 4. 30% 8.20% 11.10% 6.20% 14. 50% 8. 40%
[ERES S 8 1 3 2 3 1 18
99 594 Het-% # % 97. 63% 99. 78% 98. 84% 97.59% 98. 30% 100. 00% 98. 32%
Het-T 35 30.74 31. 85 30. 58 30. 38 31. 26 30. 20 30. 89
Het < 2477 4~ v 8.10% 4.10% 6. 20% 9.90% 7.10% 9.60% 7. 20%
[EXS S 8 1 3 2 3 1 18
99 535 Het-% # % 97. 43% 98. 70% 98. 11% 97.63% 98. 52% 97. 30% 97.93%
Het-T 5= 30. 58 32.02 30. 86 30.12 30. 88 30. 21 30. 82
Het < 247 %~ v 9. 10% 4. 00% 9. 60% 9.70% 7. 50% 15. 30% 7.°70%
[EREE S 8 1 3 2 3 1 18
00 5 4% Het-= #& = 97. 22% 99. 78% 99. 2% 99. 23% 98. 54% 98. 6% 98. 43%
Het-T 35 30. 49 32.06 31.00 29. 81 30. 89 30. 45 30. 79
Het < 2477 ~ v 10. 50% 3. 10% 6. 10% 11.80% 8. 00% 9.50% 8. 30%
[EXLS 3 8 1 3 2 3 1 18
00 | 2+ Het-% # % 97. 65% 99. 35% 98. 61% 98. 41% 98. 34% 97. 96% 98. 2%
' Het-T 35iE 30. 44 31. 86 30.67 30. 01 30. 98 30. 26 30. 71
Hct < 247 ~ v 9. 50% 3. 80% 6. 50% 10. 60% 7. 20% 12.50% 8. 00%
P 97 $ic 9 1 3 2 3 1 19
100 5 1% Het-= # 97. 03% 99. 56% 98. 60% 97. 02% 98. 93% 100. 00% 98. 02%
Het-T #2iE 30. 37 31.40 30. 46 30. 55 30. 66 30. 11 30. 58
Hct < 267 4~ 9. 10% 5. 60% 6. 80% 7. 40% 9. 00% 13. 30% 8. 10%
P 97 #ic 9 1 3 2 3 | 19
1002 5 2% Het-= # 97. 3T% 98. 65% 98. 59% 98. 00% 97. 89% 100. 00% 97. 98%
Het-T 3= 30. 75 31.66 30. 97 30. 66 30. 97 30. 41 30. 92
Het < 267 4~ 15. 30% 9. 80% 10. 60% 9. 40% 11.00% 17.30% 12. 40%
P 7 #ic 9 | 3 2 3 | 19
100 5 3% Het-% # % 97. 45% 98. 87% 97. 7% 98.51% 98. 48% 100. 00% 98. 02%
Hct-T 358 30. 76 31.57 31. 20 30. 06 30. 69 30.57 30. 85
Het < 267 4~ 10. 30% 9. 80% 6. 10% 10. 10% 8. 40% 2. 60% 8. 90%
P 7 i 9 1 3 2 3 1 19
1004 5 4% Het-% # % 97. 82% 98. 87% 98. 59% 97.57% 98. 63% 100. 00% 98. 25%
Het-T H=iE 29. 91 31.68 30. 89 29. 51 30. 63 31.14 30. 42
Hct < 26 4~ 10. 50% 8. 90% 7. 60% 17.70% 9. 70% 5. 00% 10. 30%
P 7 i 9 1 3 2 3 1 19
100 - 2 Het-% # % 97. 38% 98. 99% 98. 32% 97. 78% 98. 53% 100. 00% 98. 04%
Het-T 358 30. 38 31.58 30. 83 30. 17 30. 70 30.57 30. 65
Hct < 26 4~ 11.40% 8. 50% 7. 80% 11.20% 9. 50% 9. 20% 9. 90%
P 97 #ic 9 1 3 2 3 1 19
101 %1% Het-= # & 97. 42% 99. 55% 98. 2% 97.41% 99. 48% 98. 73% 98. 19%
Het-T =g 30.07 30. 70 30. 64 29. 56 30. 77 30. 69 30. 32
Hct =267 4+ 83. 50% 87.20% 87.60% 81.20% 90. 00% 91. 00% 85. 60%

B L FHRE KR S BTRHFLEI01ET7 11p T e
2FEHRFRE EFZEF Y FRESETRHRTFEL € 2 TH1002 1~4F S8 THRF L £ BHet <267 41 0 101#40ecdt 8 5 =267 4 11) -
3. aEmp
(1)= # & =( Hetfk » B fr)/(f & k2 3fr)
(2)T ¥ E=(H & T 30 )2 B e/ A i e
(3)=26%F ~ v =[((3ZFeHct=26F &+ EXZr2 k& B2 Bfe)/ (B & ficz B40))*100]
4 1L D B
(D= #F=95% -
()& 5226% 27~ =290% ; 2R ERFB>THH o
DRAH P A RERGHFFE BN



G437 _Het(o BTHRFF /%)

B % % 5 % 3 5 L% 3
15 9 11 9 8 2 54
97. 96% 98. 37% 98. 5% 98. 37% 98. 5% 100. 00% 98. 41%
31. 69 30. 67 30. 57 30. 41 30. 50 29. 98 30. 83
4. 20% 8. 304% 6. 30% 8. 104% 6. 60% 5. 40% 6. 504%
16 10 12 9 8 2 57
97. 84% 98. 48% 98. 78% 98. 62% 99. 09% 97. 37% 98. 47%
32. 06 30. 81 31.43 30. 48 31.09 30. 83 31. 22
3. 304 8. 104% 2. 50% 6. 80% 8. 004% 0. 00% 5. 404%
16 10 12 9 8 2 51
98. 27% 99. 28% 99. 66% 92. 08% 98. 27% 100. 00% 97. 21%
31. 86 31. 61 30. 81 30. 95 31. 31 30. 43 31.34
4. 20% 7. 60% 3.70% 6. 30% 9. 90% 2.60% 9. 30%
16 10 12 9 8 2 o7
97. 66% 97. 54% 99. 70% 98. 62% 99. 13% 100. 00% 98. 48%
31.72 31.18 30.73 30. 32 30. 40 30. 03 30. 90
5. 10% 8. 304% 5. 704% 11, 20% 9. 404 0. 00% 7.70%
16 10 12 9 8 2 57
97. 90% 98. 34% 99. 38% 98.51% 98. 81% 98. 73% 98.51%
31.63 30. 87 30. 59 30. 34 30. 64 30. 12 30. 86
4.60% 8. 10% 9. 10% 8. 10% 7. 80% 2.60% 6. 50%
15 10 12 9 8 2 26
99. 08% 98. 97% 99. 13% 98. 66% 98. 84% 97. 56% 98. 90%
31. 65 30. 30 30. 40 30. 22 30. 00 30. 47 30. 60
3. 704 10. 00% 6. 40% 8. 104% 10. 60% 10. 00% 7. 404
15 10 13 10 8 2 28
98. 55% 98. 94% 98. 06% 98. 53% 98. 86% 97. 62% 98. 5%
31.88 30. 59 30. 81 30. 67 30. 48 30. 62 30. 96
5. 50% 13. 20% 7. 304% 12.10% 17. 80% 14, 60% 10. 70%
I5 10 14 10 8 2 59
98. 18% 98. 23% 98. 37% 98. 13% 98. 32% 95. 35% 98. 18%
31. 62 30. 52 30. 69 30. 61 30. 32 30. 89 30. 83
6. 10% 12. 30% 7. 20% 10. 30% 14. 80% 7. 304 9. 60%
14 10 I3 10 8 2 57
97. 64% 98. 29% 98. 10% 98. 70% 99. 18% 100. 00% 98. 38%
31. 32 30. 96 30. 46 30. 51 29. 92 30. 16 30. 66
7. 40% 9.104% 9. 904% 10, 10% 17. 70% 1. 50% 10. 50%
I5 10 14 10 8 2 59
98. 19% 98. 28% 98. 64% 98. 43% 98. 4% 97. 67% 98. 42%
31. 50 30. 41 30. 21 30. 34 30. 10 30. 17 30. 58
5. 50% 11. 20% 7. 904% 10. 10% 14. 90% 8. 30% 9.50%
14 10 14 11 8 2 29
97. 85% 97.61% 98. 11% 99. 82% 98. 36% 97.78% 98. 44%
31.00 30. 50 30. 26 31. 14 29.79 29. 80 30. 61
89. 70% 84. 60% 89. 30% 87. 60% 79. 20% 81. 80% 86. 50%
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P 97 #ic 10 3 10 3 2 | 29
99 5 1% Het-% & % 96. 46% 100. 00% 100. 00% 100. 00% 100. 00% 100. 00% 97. 95%
Het-T 358 30. 55 32. 26 29. 95 32. 77 29. 87 28. 30 30. 74
Het < 247 4~ v 4. 50% 7. 50% 10. 70% 0.00% 8. 00% 0.00% 6.00%
[EXES S 10 3 10 3 2 1 29
99 9% Het-% # % 97. 76% 98.57% 98. 63% 100. 00% 92. 59% 100. 00% 97. 81%
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